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s)|=2 63,652,939 56,471,106 7,181,833
= 11,261,950
= 12,718,000
| 99,170
= 39,573,819

s =R 2 11,492,379 11,413,844 78,535

JENY ESA(sHlLs/sY - sF) 750,470 702,754 47,716

I22g g2 g8 =X 322,616 304,081 18,535

C=YlI=R FEMLS 55,000 6,900 48,100

207 AN 10,000 3,000 7,000

02 MADHEHI 10,000 3,000 7,000
OZHO0IXl JIsiied ¥ AEIZL 215 Al 10,000

405 KHHFS 45,000 3,900 41,100

01 AL EZF=HI 45,000 3,900 41,100
OEIMHLIHE XIHAIAE WX 25,000
OZHIOIXl EHAYXIAAE(IPS) A 20,000

AR XA X2 188,416 217,981 229,565

201 LB 138,522 160, 421 221,899

01 AFR2elt| 79,923 101,822 221,899
Oget=ZH| 45,105
OEES8 Ml === ¥ 9| 4,000
Oz 2 4| 9,217
ogxt=z 10,001
Oo2d+e 11,600

02 S22 48,299 48,299 0
OAIEEHIR X 48,299
0HESAAAHRXE 48,299

03 HAH2 S| 10,300 10,300 0
OHll162l sEXEHEI| &3 10,300

202 Odd| 25,594 30,860 Ab,266

01 SLHOHI 25,594 30,860 Ab,266
HRFE0LI 25,594
ol 2T SARX 2oFHA 2,430
orEst HENE 6,309
o2 4E 3loaA 12,580
074 HRH O 2,250
oS YT FHA 2,025

203 AR F=&| 24,300 24,300 0

03 A=A PR A 24,300 24,300 0
OAR KT AIY HRFX 24,300
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A= =)= M seIIER SR
M DY ESMd(sElYsi/sL - &)
el HE 22 SFXA (el &)
A - 2N - FH - E2(3) - HRAIY - BdS Oil &beH O{T—ﬁg% HwE2
206 M=z 4| 2,000 2,000 0
01 =4l 2,000 2,000 0
O&FAR2el S M=hl 2,000
405 Xt SHI 46,000 0 46,000
01 ML SEFEHI 46,000 0 46,000
O3sxtz 46,000
HHY2HAH (= I=R SR (JIEHIIE 10,741,909 10,711,090 30,819
oI 2| 10,587,643 10,558,768 28,875
ol EH| 10,587,643 10,558,768 28,875
101 1244 10,240,303 10,212,568 27,735
01 2 9,087,144 9,124,109 236,965
OoJlzs 7,194,157
== (HSH) 2,709,123
= 94,393,000& 2% 188,786
52 64,481,000&x2H 128,962
(o5 b} 86,473,000&*17Y 1,470,041
=t} 79,659,0002/+8Y 637,272
ANAS 3,068,794,000& *6% 184,128
HUHAS JHAtoH 1,057,050, 0002 *5% 52,853
pSE=y] Pl 2,477,914,0003*1.9% 47,081
os=(s2Hl) 4,140,031
= 3,777, 2003 2K+ 122 90,653
e=: 3,359,200 16+ 122 644,967
83 2,384,600x4ZF 12 114,461
92 1,665,400+48x12E 79,940
-HATAL 3,191,300&*60H « 123 2,297,736
KIS AF 2,956,500 x21%+12& 745,038
H2FE2 Lz 3,751, 7003 =2+ 12& 90,041
pSE=y] Pl 4,062,863,000%1.9% 77,195
o3 345,003
PN 4,140,030,000&*1.0/12 345,003
Oxg 1,050,309
EEEENS 568,003
ARt 22
12,00220%131Z+30A1 2H+128%1.019 576,769
SUIPLH(EY)
92,9932x1H*1162*1/2x1.019 5,497
o4
30,848+ 1H+3652+1/2+1.019 5,737
(OpSELER =y 462,306
=g 97,200
i EON; 40,0002 *94Z 12 45,120
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L FE - SRS - HRAY - BYS Sl
—S TR 60,0002 %342+ 122 24,480
-SIMAHAOI= 100,000&*4F+12E 4,800
J|E 20,0002 %95+ 122 22,800

= V= 72,720
-201014¢ 100,00024x252* 122 30,000
-15E0/420012F 80,0002 *20%* 122 19,200
-10E0|&H15E0| et 60,0002%21%4 %128 15,120
-5H0|&H0EA0| 2 50,000 %143+ 122 8,400

FH2ASFIIMAE 8,040
—250] &t 30,0002 %21 122 7,560
—2080(&25= 0] 8¢ 10,0002 42+ 122 480

L2 40,440
25 50,0008+61% 128 36,600
~HE 40,0002 *82* 122 3,840

eIy 80,946
—1 A 3,870,00021%28L *4 . 1%+ 122 53,314
I 3,390,000 % 11L%4 1%+ 122 18,347
72 3,774,000 *5Z %4 . 1% 122 9,285

pIE=eSCR= 24,960
-5320| 4t 50,0002 %1122 600
73 30,0002 * 11122 3,960
-820l5t 20,0002 +5 %+ 122 1,200
-XE2 60,0002 % 102122 7,200
-XIE A 50,0009 x20L* 122 12,000

JEFBaY I3 13,800
IEFN; 50,0002 *5% * 12 3,000
AL DISE 30,000 %27+ 122 9,720
—G&FIDIAL 20,0002 2%+ 122 480
-=88,95 20,0002+ 12122 240
286,75 10,0004 x3 122 360

o2 YRt 600
-S| 50,0002 *12* 122 600

DEEREE 50,0002+ %4122 1,200

HrEesd 80,0008 +80%» 127 76,800

ARG 200,0002* 1% 122 2,400

SOIEEISe 900, 0002 *4 23+ 122 43,200

O HZA| 140,000 %147 %+ 128 246,960

OBEFIHI 4,272,651,0009 / 12%120% 427,266

OStE A 6,410,402, 00021 +B86%/360+ 11 168,452
02 JIEFRIE 4 329,718 327,948

OMAZZ 124,276

o= 2,184,8002%3%* 122 78,653

oM I 78,653,000 %1.9% 1,49
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A2 2A - ZH - 02(3]) - MSAR - BAS 0 Ao Sl GImE==l
e 80, 148,00024%1.0/12 6.679
ot EY 3,840
HHRXH 40,0002 x2%* 122 960
SMXH 60,0002 x2%x 122 1,440
AITHXHAOIZ 100,000 % 1122 1,200
DIE} 20,00020% 1% 122 240
ESEER= PN = 1,320
10&t0l4k 1540]2t 60,00021% 1% * 12 720
54014 1002 50,00091% 1% * 12 600
ASHY(ZH) 30,00090% 1% 122 360
OEU2DLE(HAZE) 30,405
AlRtel2 4
9,981 %3 *56A| 2 122%1.019 20,505
oRI2ee
26,61621+3%%3652%1/3+1.019 9,900
oNEREE 92,347 ,00021%1.65% 1,524
OLIIH 205,442
062 68,800,000 % 14 68,800
o2 53,500, 0002 x2% 107,000
ool 209,477,0002 *6% 12,569
oM IIE JtAS 100,432,0002! *5% 5,022
ORI IH | 180,822,00024*1. 9% 3,436
otELY 5,280
I Xt 40,0002 +32* 122 1,440
EMXH 60, 000212 * 122 1,440
U DUENE 100,000 % 1122 1,200
DIE} 20,000 2I+5%* 122 1,200
0 JEZEE 202,107,000 % 1.65% 3,335
03 PIHA22 T2 S 823,441 760,511 62,930
OFAZE| L AIREZX(4Y) 137,283
023 2,285, TA0RI 4%+ 122 109,716
ISP ES = 140,000 %4+ 122 6.720
IE=1bsER= 36,67021+3%* 123 1,321
0 EEIHH| 2,285, T40+60%+4E x23] 10,972
b E=; 3,554,000 3,554
otESG 2,400
HH <> Kt 40,0002 x4 3« 122 1,920
E 20,0002 % 1% * 12 240
JIEt 20,00090% 1% * 122 240
olll =H| 200,00021%3% 600
00H| 50,00024%203] x2 2,000
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2.2 - ZH - OI(S) - HIRAY - BAS Sl HimE=T
ORE2 J|122Y3 (=)= &A) 686, 158
ongssz 103,821,000 103,821
ST 58,525,000 58,525
0=RpIHSR3 283, 126,000 283,126
EEIREICE == 215,810,000 215,810
0ED|RUBH IR 24,876,000 24,876
204 X 24 AHH| 347,340 346,200 1,140
02 ZZEXH| 347,340 346,200 1,140
O=ZEXH| 347,340
=] 650,000 %1122 7,800
033 500,000 2% * 122 12,000
=) 400,00024+8% * 122 38,400
=) 250,000 2% * 122 6,000
6= 165,000 *3% » 12 5,940
/2 155,000 % 16 * 122 29,760
08,93 145,000 8% 122 13,920
o7, XE 2 250,000 %192 * 122 57,000
o, XIS At 165,0002+8124% 122 160,380
oM2AAER L2 165,000 x22 * 122 3,960
o2JIH 63 250,00024%1 =122 3,000
o2JIHl 72 165,000 2% 122 3,960
oHRAZFE(230(2H) 145,00021+3%* 122 5,220
J|=3H| 154,266 152,322 1,944
=2 154,266 152,322 1,944
201 LA 63,100 54,962 8,138
01 AFR2t2IHI 61,880 53,742 8,138
OYBt29] 29,318
o2g4g 23,760
=gSEN=s 23,760
on=| 2,754
OHAAE 22= 2,754
o= 6,048
0S2UEY S22 MhA 6,048
02 22| 1,220 1,220 0
02222 2 HAl 1,220
202 04| 3,806 10,000 6,194
01 =LHOIH] 3,806 10,000 6,194
OJ|=2248 ol 3,806
203 LRI 25,560 25,560 0
01 I R2H ARSI 11,000 11,000 0
O=2)|28 29 11,000
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Pl gllsd &=
DI} H2MA e
seEgdgdE 24 (el EJ)
2 2A - B - SIS - MEAR - Sl HIDE2
01 KEXIEHMIE 72,000 72,000 0
OXgsdlle 72,000
= 72,000
o EIHI0IE & L CIoIE e1T2t 2=( 489,656 489,656 0
2 244,828
s 244,828
101 12| 398,056 398,656 2600
= 199,008
s 199,028
04 JIZtHI22 Xt 398,056 398,656 2600
Osg & 398,056
ollEs 259 281,600
= 140,800
= 140,800
=P R ul 4,400
= 2,200
= 2,200
0EE = 26,400
= 13,200
= 13,200
0ZAHOIH| 85,656
= 42,808
== 42,828
201 £EH=gH| 10,000 9,400 600
= 5,000
= 5,000
03 A2 | 10,000 9,400 600
OAbES 10,000
2 5,000
= 5,000
202 O 5,000 5,000 0
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= 2,500
01 ZLHOYI 5,000 5,000 0
Osdg & = 5,000
= 2,500
= 2,500
206 =4I 24,000 24,000 0
= 12,000
& 12,000
01 =4l 24,000 24,000 0
=0 24,000
— 12,000
& 12,000
301 E2dS 52,600 52,600 0
= 26,300
= 26,300

- 1047 -




AR se|a SN SIS NSHRD
B D20} NBHN U AYBE ATUS(SHYL/ Y - &
9 sYTIE SYXY (Er9l: &8
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
12 JIErE a2 52,600 52,600 0
Osg HH0IE <8 S0t A2 52,600
2 26,300
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SeIBEIENY el Ust 237,742 686,897 £ 449,155
2 2,800
= 234,942
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201 2er2L| 115,842 110,347 5.,4%
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SEIEER=T] 21,817
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O2BZ23 < Al 7,600
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ODTIF HSMA U YT 17 £3 2,100
303 Z&3 25,000 25,000 0
o1 Z&= 25,000 25,000 0
OBzs= 243 15,000
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405 THAHF S| 3,000 5,000 £2,000
02 SATLEI 3,000 5,000 22,000
OseT H2TH 7Y 3,000
SEASAY #F JIEAE 25 (M) 5,600 5,600 0
2 2,800
= 2,800
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e A 1 s2)a M2
I} RS Y BHFE AUS(SHLS A 5 - 55)
B NEEM MAID CER)
T - RA - BE - S9I(3) - IRAY - BAS oj v G HIDE2
0282 S 4,480
= 4,480
206 THEH 8,275 13,810 5,535
= 8,275
01 THEH 8,275 13,810 ~5,535
ORAZMA 8,275
oA BMA XY 8,275
= 8,275
FEteE 5ol e AR 1,809,280 1,252,000 557,280
ALBHEI SR 29X 1,809,280 1,252,000 557,280
306 =013 1,809,280 1,252,000 557,280
01 &3 1,809,280 1,252,000 557,280
O(M) BLstac- 501 2AX 1,809,280
HYSAAH| (S Ie =22 (JIEHIIEN 785,507 795,850 10,343
A2 747,401 749,682 A2,281
A2 747,401 749,682 A2,281
101 Q14| 747,401 749,682 A2,281
03 RIHA22ES 747,401 749,682 A2,281
OMREZX 2 AEHARLEES QI24H| 747,401
o2z 561,659
DA 2,435, 7408 » 179 * 12 496,891
<LpEZ 2,698,660 * 2% x 12 64,768
pelE=1b SRR 8,765
<OpRZ 636,8508 * 128 7,643
<UpEZ 46,7202 * 2 x128 1,122
b= 24,893
<IPEZ 86,3228 * 17 = 15 22,013
<LpEZ 95,9802 * 2% * 152 2,880
0HEEIHY| 56, 167
<OBEZ 2,435, 7402 * 0.6 * 17 * 23 49,690
<LpEZ 2,698,660 * 0.6 * 2 * 23 6.477
ORI PE A Ct 31,440
<DpEZ 140,000 * 179 = 128 28,560
<LpEZ 120,0008 * 2% » 12 2,880
oELY 15,600
B 40,0008 = 162 » 12 7,680
RLelpfE= 20,0008 = 13 = 12g 3,120
J|E 60,0002 * 5% * 122 3,600
= 100,000 » 1% * 12% 1,200
0B LY 50,0002 * 5% = 128 3,000
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I2HZ(=ll=) =AW (IIEHIIE
S eaelal (=& )
= RN - - o9)(3) - NRAY - BYS 0 Ao Sl GImE==l
oHAZ2ZSH 5,807
<Dp> Az 16,1302 * 198 = 360AI2t 5,807
osg2Z 29,870
<Ip> Az
16,1853 17 * 8BAI2t » 128 26,414
<Lk &2
18,0003 = 2H = BAIZt 128 3,456
olll =H] 200,000& * 13H 2,600
(of0z]a] 50,0002 = 19% * 83l 7,600
Jl2&l 38,106 46,168 18,062
=34l 38,106 46,168 28,062
201 LB HY| 16,286 17,783 A1,497
01 AFR2elt| 14,472 15,969 A1,497
Oget==2d| 7,500
O=&H| 4,472
ogxz 2,500
02 25224l 1,814 1,814 0
02322 ¢ HA 1,814
202 04l 10,000 16,625 26,625
01 20| 10,000 16,625 26,625
ORAM SR F& 10,000
203 HRF=&| 11,820 11,760 60
01 J| 22 PRI 6,600 6,600 0
ogg= 24 6,600
04 SN2 ZRFAI 5,220 5,160 60
OXEARL 2 5,220
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feal (2 &)
22N - ZH - 22I(E2) - MRA Sl B2
202 Oid| 2,535 4,500 A1,965
01 =4I 2,535 4,500 21,965
O=LH0YI 2,535
206 M=z 4| 1,660 1,800 A140
01 JH=ZHI 1,660 1,800 A140
OzE=g AMEE 1,660
207 AN 5,400 6,400 21,000
03 Al 2| 5,400 6,400 21,000
Orlgd=sg 248 =X+ & 7 5,400
e Eetaie| g4 2 69,277 70,832 21,555
201 LEt2HH| 65,477 66,332 ABD5
01 AHR2teld| 5,000 5,855 ABD5
Oget==2d| 2,000
OfI& =] 1,000
O1l=H| 1,000
O=gt] 1,000
02 2322l 60,477 60,477 0
O=2223 & HAl 44,051
(@ftak=1s] 3,593
OAIEZ I X 12,833
202 Oid| 3,800 4,500 AT700
01 ZLHOYI 3,800 4,500 AT700
OYR=& (ol 3,800
228 2 FHIEY 52,500 264,200 A211,700
401 AIEBIZ 0] 24,000 237,600 A213,600
01 Al&HI 24,000 237,600 A213,600
DR Hd FAHA el2 24,000
405 XHAHESHI 28,500 26,600 1,900
01 AL ESEF S 28,500 26,600 1,900
OZstal 2Al 4,500
O2SAAXHAF wE
= 24,000
ANE=sY A8 DE3K 500,000 270,000 230,000
s 250,000
L= 250,000
405 Kt SH| 500,000 270,000 230,000
s 250,000
& 250,000
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2 |== £ At
B OESAE AR (SNYLA/ Y
ollEs SELM Jlz g A2 (2 &)
N2 RN - ZH . B2I(31) - MR - Sl B2
OH=H| 6,246
OAIEZ IS X 7,695
202 odd| 4,600 5,400 A800
01 SLHOBI 4,600 5,400 A800
OYRF&0t| 4,600
SS9 2Ed Hols e 19,000 10,600 8,400
207 AN 19,000 10,600 8,400
03 Al 21| 19,000 10,600 8,400
Ogelaga Al 2 5,000
Ogelags =07 2 A8 S5 7 4,000
OZg golf Z&d YRz 2728 Al 2 10,000
A2oHE e LRI Y 11,000 13,000 A2,000
207 AN 11,000 13,000 A2,000
03 Al 4| 11,000 13,000 22,000
Odfise 74 AFEJ| & HE 7Y 5,000
Odfisg-4a Al & =X|7 7Y 6,000
SAXASEAE As-20H AE 35,500 36,600 21,100
101 21244 18,800 17,000 1,800
04 JI1tHI22 XS 2+ 18,800 17,000 1,800
OsAxAUSZAY H2Qe 18,800
oJleg 80,0003 1901 15,200
oXtRESRL+E 560
e =] 840
0HEFOHI 200
oEEE S 2,000
201 B2 4,200 5,000 A800
01 AHR2teld] 4,200 5,000 A800
Oget=+=2t| 4,200
202 Oid| 4,800 5,600 2800
01 =LHOAYI 4,800 5,600 2800
OSXEZE Holls ZAF & SUHAIE 4,800
207 AN 7,700 9,000 A 1,300
03 Al 24| 7,700 9,000 21,300
OSAZHASEAIZ 2AH 2 3,700
Ox&ze| 285 7Y 4,000
E2E Jlz= HgaAR 345,454 361,404 215,950
lsd 2& A= g A 64,597 64,597 0
101 Q1244 54,000 54,000 0
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A= sglI=d M sE)|I=d gFsYo
M FSY UFMEAS AT(SHHLI/ S - SE)
2Rl |RE2F Jls HEHP (el &)
AT 2B - BRI(30) - MIRAY - BAS ol &t G HlmE2
NE2S A XM 2 114,790 127,798 213,008
101 @1Z44| 17,000 17,000 0
04 J1tMI2Z2 S 2+ 17,000 17,000 0
OXY 2EXE L3t AIF 17,000
oJlEz 80,000 182+ 1H 14,560
0R3EYLY 600
oHEFIHI 200
0E8E S 1,640
201 LB 53,400 55,798 A2,398
01 AFR2elt| 13,400 15,798 A2,398
Oget=ZH| 13,400
02 S22 40,000 40,000 0
O=223 & HAl 40,000
202 Oid| 4,200 5,000 A800
01 SLHOHI 4,200 5,000 A800
OXNHZ2EAE HRFA 4,200
207 AN 40,190 50,000 29,810
03 Al 40,190 50,000 29,810
O=SAE ARE Al & =X+ 40,190
FE2E MY J|gSE A4 350,000 0 350,000
s 160,000
= 190,000
Al OJoF At ATH WY 90,000 0 90,000
201 LB 60,000 0 60,000
01 AFR2eltl 30,000 0 30,000
O=M44z 6,000
OSo=d S8 8,000
OHIAI2F Meldl8 16,000
02 2234l 20,000 0 20,000
OAIEEHIR X 20,000
03 &AL 10,000 0 10,000
OHetal LUEX 5,800
O=2H| 1,200
OAZXIS 4| 3,000
207 AN 30,000 0 30,000
03 AIE &I 30,000 0 30,000
ORELUI IITE Al 2 9,000
OsZ2FZ2 ¢ 2l FHE MY 2 5,000
Oad=E =4 72 6,000
Ollsd &elg Al 2 10,000
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A2 se)|a
Hu: e IFsAS AR(SPHYS
o9 RBEE AYs JIBIRE o7

A sl 2
t/sg - sE)

% S[E]
A 2A - B i) - RN - BaS SR HIDS2
=E2E HEda D= e 100,000 100,000
101 el24H| 60,000 60,000
04 J1ZtHI22NSE = 60,000 60,000
OREZE Mest J|EF HA8X 60,000
0ll=3 80,0008 18224+3% 43.680
oreRdrd 1,500
odEFJHI 600
oE8& S 14,220
206 MH=HI 20,000 20,000
01 =4l 20,000 20,000
O=BAN=ESE 78 20,000
207 AHLH| 20,000 20,000
03 Al g4l 20,000 20,000
Oss+d 7,000
OlldE g&8 A+ Al 1,000
OSSOl &tetHl o7 Alf2Y 6,000
O=HE 248 ALY 4,000
OANEE Z=XI7 2¢ 2,000
KNGS ML (LM LIS 0188 D0 A= 80,000 80,000
]Hl:”—)
= 80,000
101 el2H| 36,000 36,000
s 36,000
04 JIHNZ22NSE 36,000 36,000
=E2E &%ir Jlgtas o 36,000
== 80,0002+ 182 x2H 29,120
o 29,120
oFEndrg 3,600
= 3,600
=P R ul 400
[ 400
oE8E S 2,880
= 2,880
201 k2| 4,000 4,000
s 4,000
01 A2l 4,000 4,000
OLN0IAIZIHE 7 =& 4,000
o 4,000
202 O 3,000 3,000
= 3,000
01 2LHOIHI 3,000 3,000
e =4 2 SHFAS A 3,000
= 3,000
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=)= 2ll=d 2
B AHSAME 6T
=E2E MYst JgE (el EJ)
i S[E =
22K - - B2(3) - MRA SR HIDS2
207 A-RE| 37,000 37,000
s 37,000
03 Al et 37,000 37,000
OaEE Al 37,000
o 37,000
N RSP E- 4= 80,000 80,000
01871 He)
o 80,000
101 12| 36,000 36,000
= 36,000
04 JIZtHI22 S 36,000 36,000
Otldg=s olE 36,000
= ,0008* 182 x2H 29,120
= 29,120
s ] 3,600
o 3,600
o &SIt 400
[ 400
oF8E S 2,880
o 2,880
201 er2g| 4,000 4,000
s 4,000
01 AtR2elt| 4,000 4,000
OD|dE 012l IsMHe 4,000
= 4,000
202 04l 3,000 3,000
= 3,000
=LHOIH| 3,000 3,000
OSZXZAIE 4 3,000
o 3,000
207 A=RE| 37,000 37,000
s 37,000
03 Al et 37,000 37,000
O&EAe & 37,000
s 37,000
HEZS 018 LRI 153,292 216,220 62,928
HASSEYE & RAEX 54,460 18,637
101 el2d| 33,160 22,337
04 JI2HN22NS 2 33,160 22,337
OgHAa 822 15,160
= 80,0003 1601 12,800
oRIEYLY 480
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J
=) (D1EHIIEH

SN s

EE

S HA)
2.2 - ZH - OI(S) - HIRAY - BAS Sl HimE=T
03 RIHA22X2 % 970,260 908,935 61,325
OJZ ANEAREX(22Y) 839,892
oJle3 2,435, 7TA021+22 % * 122 643,036
0U2EH L 46,70021+202* 122 11,208
oX R AR 4 140,00021%22%» 122 36,960
oRIE g 50,0002 142* 128 8,400
otEag 10,080
B 40,00081% 122 * 128 5,760
29 20,0002 +5% 122 1,200
JHA () 20,0002 7%+ 12 1,680
KHEH(SM) 60,0002 x2% 128 1,440
0HEEIIH| 2,922,90021%22% 64,304
ogYZ24Y 16,358 R*BAI 2502 +4H 26,173
oI F224Y 16,358 21%20 Al 2222 7,198
0PI R g 87, 24521x222x 12 23,033
oIl =H| 200,00024+9% 1,800
0=2LH0Ib] 50,0002 x222+7 3] 7,700
OUR ALEHIRXI(3H) 130,368
oJl=3 2,638,660 *32* 128 94,992
RIS, 46,7202 +3%* 122 1,682
oRIB AL 50,0002 %32 * 128 1,800
oXRE 4L 120,000 +3%* 128 4,320
otEaE 4,560
LIES 40,0002 *3%* 122 1,440
KHE(SM) 60,0002+ 12* 128 720
XHE (A H) 100, 000212128 1,200
SUEICY! 100,000 *x1E* 122 1,200
0HEEIH| 3,166,40021+3% 9,500
0EY224Y 17,337 2148 Al 2H+ 122 x4 6,658
o E224E 17,3372x35A1 213 1,821
bR 94,004 21%32x 12 3,385
oIl =H| 200,000 %3% 600
0=2LH0Ib] 50,00084%3%#73] 1,050
=22 52,065 54,158 22,003
|23 52,065 54,158 22,003
201 Lek2 A 40,105 41,058 A953
01 AR 22 5,300 6,253 953
OJIZAIREE| 1,224
OAZHESE ¢ 1,265
o3z 2,811
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- oSel/dET
D AERIT(=sYII=R
D JlEdsl

SN s

) (JIEHDIE

p)
b

129 B

A= R - ZH . BL(S) - KIRAY - BAS Sl HIDE2

02 3324l 34,805 34,805 0
O332=2 ¥ HA 34,805

202 O 6,500 7,700 21,200

01 2LHOIHI 6,500 7,700 21,200
ORKNgR =& 6,500

203 ge=&| 5,460 5,400 60

04 EASIHRFA| 5,460 5,400 60
OB =238 5,460
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D s8I

D AllsAtE 3MAUS AR (=S E)
DAENL EESS H ? &)
2.9 - B O9(31) - HIRAL o4k G HlmS2t

03 Al& 2| 13,500 15,000 A1,500
ORTLX 2 3,500
ODNA =& D 2,000
OZBE 2HAI% Y X177 7Y 4,000
O=e 2 dl 4,000

DI vIEE ' 131,241 132,908 A1,667

101 1244 54,300 51,825 2,475

04 J12tMI2E2 XS 54,300 51,825 2,475
OLI| ME 54,300
oJlEgs 80,0003+ 1852 +3Z 44,400
oFEFYsr 1,800
(oJsabNEs= 1,200
0EEFOH 600
ol=k= 1= 6,300

201 LBt2 | 36,081 36,329 A248

01 AtR22teld] 1,182 1,430 A248
Oget===H| 1,182

02 3323| 34,899 34,899 0
(@l=:] 21,499
OAIZEHIRXIHI 13,400

202 Odb| 1,060 1,494 A434

01 =4I 1,060 1,494 A434
O”/R M= & 100
OSXIAIE ZAF & SOIMHEI=OE 218 960

206 =4l 26,000 28,260 A2,260

01 =4l 26,000 28,260 A2,260
OFIl ZEHHSF Al & =X+ 7 3,000
ODNAZ A Al 2 A2H THE 7Y 3,000
Ovirus &lEt= s & Al 2 4,000
OJ12R & JAJAT Mot A=Y 8,000
O=t==At & HiY # 5,000
O%)| THoe M=l 1,000
=2 2 Hz 2 2,000

207 AR 9,000 10,000 A1,000

03 Al 12| 9,000 10,000 A1,000
O=3 & JAJ;Q e THH 9,000

301 LB EF 4,800 5,000 A200

12 JIEt2 43 4,800 5,000 A200
OIS+ SEXNAEE 4,800

AMETNA THEHD =0 L ALK SRAE A 84,380 80,360 4,020
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°401|LA+ AWAG GR(SRHL LN/ S - 5E)
4 SSFLE & M= e (el EJ)
SR - SR(E) - KIRAY - B Sl HIDE2
101 el24H| 65,880 59,360 6,520
04 J1ZtHI22NSE = 65,880 59,360 6,520
OAIETHA TEDI= e & datdera g7 65,880
oJlZs 80,0003 1684 53,760
orEsdIdfrd 1,920
o xtFERIITE 2,400
=R R ul 800
oEEE S 7,000
206 MH=HI 5,000 6,000 21,000
01 =4l 5,000 6,000 A1,000
Oz =242% M= 5,000
207 AN 13,500 15,000 21,500
03 Alg &4 13,500 15,000 21,500
o=+ 7Y 2,000
O=248 Al 7Y 10,000
OAlgg Sit 7Y 500
Os2 2 Hz 2¢ 1,000
Dot WS A5 265,086 248,252 16,834
bt 3dEA5 2SR 35,241 37,985 N2,744
201 er2g| 32,241 32,899 658
01 AtR2t2l| 4,427 5,085 658
Ooget==h| 2,012
O=2g+d 898
Onl=Hl 379
O=gHl 13
OZHIg A= 1,025
02 S22l 27,814 27,814 0
OAIZ &Il 27,814
202 O 3,000 5,086 2,086
01 2LHOIHI 3,000 5,086 2,086
O XIAE =& 1,000
Ot==MtHo= ALE 500
Ot==5 dgotal 1,000
Os2EIts| &A 500
AAS b= THHD = 102,800 100,000 2,800
101 12| 79,400 74,000 5,400
04 J1ZtHI22NSE s 79,400 74,000 5,400
Oit== AETHED 1= HE 79,400
ollE= 80,000 *190 %4 H 60,800
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s8R 2A 0 sell=d 2020

A2 BHAAS AR (SAHY SN/ 5 - 5&)
DDAl 2 Yst (Sl ®R)
22N -3 O9(3) - MRAY - BES o8y Sl HimE=T
EEETEN 4,800
ot RERII==E 3,200
oHESIHI 800
0P S 9,800
206 Th=8| 9,000 10,000 A1,000
EE] 9,000 0,000 A1,000
OBtA HILTI= A 5,000
OAEREE 2 M= 4,000
207 A0 14,400 16,000 A1,600
03 Al H| 14,400 16,000 A1,600
Os% 2 g+ 3,000
ODMED =24 THEY| 3,000
CELENBISET 7,000
OE&lHI+&t| 1,400
TR THHD 1= Y 2 S o7 108,045 90,267 17,778
101 Q1244 77,250 55,679 21,571
04 JIRHMIZ2Z2 S8 77,250 55,679 21,571
OFEQD4 MHiDIE N L BREY o7 77,250
oJleg 80,000 195 *x4H 62,400
0RBEY22LY 7,200
odiRRB R 1,600
oY EEIH| 800
o2EE S 5,250
202 Oid| 2,295 3,084 AT89
01 SLHOHI 2,295 3,084 AT89
O e e 2,295
206 =4I 10,500 11,504 A1,004
01 =4l 10,500 11,504 A1,004
OdtSA HILII= XM 4,500
ONEEE 2ETH24) 3,000
Ozt==XHd| 3,000
207 AN 18,000 20,000 22,000
03 Al 2| 18,000 20,000 22,000
SNESGIERET 1,000
OMEZE 24NME 4,100
O=% 2 g7 8,000
Ogld|=7e 4,900
JI=Hs HE OFSE0H == MU= JHY 19,000 20,000 A1,000
201 B2 10,000 10,000 0
02 25224l 10,000 10,000 0
OO0ttt 24 L AZH| 10,000
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AR se)|s SN s2)|E ANHAD
B S0|sA2 IBAUS AP (SYHYSN/ S - 5E)
CHRl: DpARY FTRA st (Er9l: &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
207 AN 9,000 10,000 21,000
03 Al 21| 9,000 10,000 21,000
OF&E N7 2,400
OAgeT Z27Y 3,000
Os% 2 Hlg 78 3,600
S =FTHH JI=0He 2 ADIEE &2 839,098 415,322 423,776
S =ZHH DY 2 ADEE A7 22 85,671 89,866 N4,195
201 B2 80,376 81,046 A670
01 AHR2teld| 4,427 5,097 2670
OEIER=1] 2,5%
Onl=Hl 251
e=ET 677
OZHIYx= 900
02 2322l 75,949 75,949 0
(@ftak=1.]] 55,949
OAIZEHIR X 20,000
202 (44| 5,295 8,820 A3,525
01 =LHOAYI 5,205 8,820 23,525
O4asc 2ag 2,6%
ODHIBIIE 2 st5] 2E &A 1,000
Os)t 2188 2 DS 600
O8XIANg =™ 1,000
YUIHF =Z T Dl R 52,810 53,602 AT
101 Q1244 36,110 35,522 588
04 JIRHMI22 X EE= 36,110 35,522 588
OBME +2TbHIIZ Her 36,110
oJlEgs 80,000& 190 *2H 30,400
oraErd2YH 3,360
KRB ENSY 1,600
0HEFOHI 400
0BT = 350
206 =4I 5,000 5,040 240
01 =4l 5,000 5,040 240
OMMZF =ZAIE M=H| 3,000
O&==8 | 2,000
207 AN 11,700 13,040 1,340
03 AlE & 4| 11,700 13,040 1,340
Os2 2 =g 72 6,000
ODHME PR L Al 5,700
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sl

HOISAE THHUS GA(SAHS
©EE M V=g 2 ANEY A4 FHA)
22N - B - O9I(3) - MRAY - BAS Sl HIDE2
AEETE L AEE D= 50,687 49,637 1,050
101 el24H| 31,560 29,511 2,049
04 JIZN22NSE 31,560 29,511 2,049
OJIZHNZ22XSE 31,560
ollEs 80,0002 150 x2H 24,000
oFEndIZ2SE 2,880
odxtRERIITE 1,280
=R R ul 400
oEE8E S 3,000
201 £EH=g| 11,244 11,244 0
02 s3=24H4| 11,244 11,244 0
OZ8k= € HAl 8,844
OAIZ&tHI= Xl 2,400
206 =4I 2,500 2,941 Yavuy
01 =8l 2,500 2,941 Yavuy
OBk & A8zl Y 2,500
207 AHEH| 5,383 5,941 558
03 Alg 4| 5,383 5,941 A\b58
OADIESE A 2 4,000
Os2 2 Hgg 2 1,383
=83l 85 A Miols e 79,930 82,217 N2,287
101 el24d| 56,430 50,375 6,055
04 JIZHN22ASE 56,430 50,375 6,055
OJ1=4st B8 M4 MHHl=s HE 56,430
ollE= 80,0002 %1404 H 44,800
orEsdIdEsrd 4,800
odXtRERII=+g 1,280
o &SIt 800
o2EE S 4,750
206 M=H| 5,500 5,842 A342
01 =4l 5,500 5,842 A342
OJ|1=Hst A28 =4 5,500
207 AN 18,000 20,000 22,000
03 Al el 18,000 20,000 22,000
OJISHERE A2 7Y 4,000
O=sEE Tt +¢ 4,000
OAlgE St 78 2,000
OFE=EH A & =X+ 7 8,000
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. me|ze K

D ElsitE TS HAR(sHHY

A
e
N L ADER o3

D EY =M Jl= chel JR)
N2 RN - ZH . B2I(31) - MR - Sl B2
ACIEE HRME X2 (2T XA) 70,000 70,000 0
308 XXISHHISOIHE 70,000 70,000 0
11 SIS0 &S A 70,000 70,000 0
OAOIEE AHRHEH X 70,000
AU &8 L] A me=24 Y & 25 500,000 0 500,000
401 AIEBIZ 204 500,000 0 500,000
01 Al&HI 500,000 0 500,000
OXANUX &8 w224 3= 500,000
tlsatg ARDIBIEY 151,640 991,450 A839,810
Al 2 HHIEH 151,640 107,450 44,190
401 AlZHIZLSOHY] 126,560 79,450 47,110
01 Al&HI 126,560 79,450 47,110
ORNESEY =5 24 AIdEZ 75,760
Ot =24 HIZWM SAt 50,800
405 X+ SHI 25,080 28,000 22,920
01 AL 2EFH=HI 25,080 28,000 22,920
oLAHIZZI| 7 20,000
OXt=4A! SHUFHI 7 580
OgdE= 27H 7 1,300
OAlZHM 2401 7 3,200
HY2IAH (S |1=3 202D (JIEHJIE 751,973 681,522 70,451
I 2AY| 735,945 662,459 73,486
QI 2A| 735,945 662,459 73,486
101 Q124H] 735,945 662,459 73,486
03 RIIHAZZ2 R == 735,945 662,459 73,486
OAIEAR BX Y Aldze] 735,945
oJleg 525,781
OpEZ 2,375, 7402122+ 14 399,125
<LpAZ 2,638,660 123 4% 126,656
OESES T R 29,280
<IpAZ 140,000« 123+ 14H 23,520
<LpB>&Z 120,000 * 123 +4H 5,760
032N Y 9,652
DR 6,928,000 6,928
<LPZEZ 2,724,000 2,724
(ofabNEa=y 23,251
<Ip&Z 17,703,000 17,703
<LPAZ 5,548,000 5,548
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| ?EA)
2.2 - B I(3) - HIRA Sl HlmE2t
0BEFIHI 52,579
<IpEZ 2,375, 7403+0.6%23|x14H 39,913
<LB>&Z 2,638,660 *0.6+23|x4YH 12,666
0522 74,762
<IPAZ 15,894%14*32%8 56,965
<L 17, 379%4*x32+8 17,797
otEY 8,640
<OpAFZ 7,200,000 7,200
<LpAZ 1,440,000 1,440
oI ErY 50,0003 *12&*5H 3,000
ol =H| 200,000&*18 3,600
(of0z]a] 50,0003 +6=2]*18 5,400
J 16,028 19,063 23,035
=23l 16,028 19,063 13,035
201 B2 9,463 9,463 0
01 AHR2teld] 8,033 8,033 0
OJISAMRESH 1,044
Ox24 3+ 1,360
O=t| 3,829
ogxt=z 1,800
=322 1,430 1,430 0
23223 ¢ 1,430
202 04| 1,765 4,800 23,035
LHCAH] 1,765 4,800 23,035
HEFA0HI 1,765
SE&| 4,800 4,800 0
N2IYRF 4,800 4,800 0
20 AL 2 4,800
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F SE=4 & &st D= s&
DEI 2 NES 54 2 &e)
2.9 - B O9(31) - HIRAL o4k G HlmS2t
2 I pA 1,861,931 2,233,710 A371,779
s 565,000
& 1,296,931
ot B354 2 Ae s (s =E) 1,440,951 1,821,519 380,568
s 565,000
& 875,951
& R EE =4 573,951 283,249 290,702
2 285,000
= 288,951
s 54 38,159 36,733 1,426
101 1244 21,874 19,248 2,626
04 JIZtHIZE XS 2+ 21,874 19,248 2,626
OUHE |4 JI2HH22 Xt 21,874
OAIEZE 2[R 80,0003 *1H 1852 14,800
orasdIdEzrY 3,360
o 480
0HEEFOHI 200
o028z S 3,034
206 M= 4l 1,485 1,485 0
01 =4l 1,485 1,485 0
Outis=s4 =4l 1,485
207 AN 14,800 16,000 21,200
03 A& I 14,800 16,000 21,200
OuiEssH AT 14,800
oAEEZE 22| =] 2,000
o=H, A& M=l 1,800
CEFONEIV Il 1,300
ordEE HEZIel AF=HI 1,500
oEZTAIS, 4, T HZ4| 1,000
oAc|Y 2| 3,400
o3t XX & MWEE 2E =4I 700
oA ME M=HI 700
oXEsE SIS 22 2,300
oXEsH SIHAES | 100
20 2ARS Jls AR 7,800 9,000 A1,200
207 AR 7,800 9,000 A1,200
03 Al 2| 7,800 9,000 A1,200
OF=3 Jl=a+4l 7,800
oEANFES AlE1H| 2,000
oREAEE M= 2,000
oAtSHI|E S UHESQ! 800
oRE=E 24= Zd™ 3,000
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F SE=4 & &st D= s&
IEE SF LUES 84 2 EA)
C A E Tl (BIH) - HISA Sl HimE=T
oZclZ | 2,700
otEXIX & MHEE 2SM=H| 800
2LE fFHS 84 17,500 19,000 21,500
207 AN 17,500 19,000 21,500
03 A& I 17,500 19,000 21,500
OEZEREAHS AlIEAI 17,500
o0|LI IS RHY| 300
oZal 2= 4| 400
oSEZLY 2IM=H] 1,000
oXZBHSF IH=HI 2,000
ol 2IETHZH| 1,800
oZAE 2y 1Y 2,500
oJ| A3 ZETHZHI 400
0SEZE BAE 29 7,500
oLfstEHE HXNEH 1,600
AE NGESd 28 & 22 73,532 66,070 7,462
101 1244 66,732 58,070 8,662
04 JIZHNI2 2R SE 4 66,732 58,070 8,662
OREAHSNEHELY & 66,732
OAIEIZZE 2te|QIF e 80,0003 220 52,800
0HEFOHI 600
orERYI=E 8,640
o£EE S 4,692
207 AN 6,800 8,000 21,200
03 Al& 32| 6,800 8,000 A1,200
ORYASKNGEESH AEHLFHI 6,800
oMEZE 2IM=H] 2,000
OAEIZE 2IM=H] 4,800
A =EEE 14,800 16,000 A1,200
207 AN 14,800 16,000 21,200
03 Al& &I 14,800 16,000 21,200
OREXE =EEE Al 14,800
OAIEIZZE 2Zte|M=H] 1,000
o=R, d4l =4I 800
WEININEN =] 700
or=ZE HESIfEl A 900
oHEFEASY, 24, ZAUIS =4I 1,600
ozl 2l 3,500
oB XX & WSE 2LMH=H| 700
oHIE MEMZHI 400
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iz

se|5E EERERS
2 SES=d E ARSI s&
DEI 2 UES 54 SRED
2. 24 - B - O9I(3) - MISA Sl 2
oSHEEY NEZH 1,000
OZTHIWHEAEL 2 700
0ZTHIWEAE & 700
0SSHIWUEAIE B 2,800
ZEXS M2 2} MES 80,000 80,000
s 80,000
101 Q1244 43,748 43,748
Fas 43,748
04 JIRHMIZZ2 S8+ 43,748 43,748
OIIRHMZ2 2R B 43,748
OAIEIZEE 2| @l 80,0002 2185 29,600
Fs 29,600
osd 224 6,720
s 6,720
oRIEYZR4Y 960
s 960
0P EFIHI 400
Py 400
o028z S 6,068
s 6,068
201 LB 5,704 5,704
Fas 5,704
01 AFR2eltl 5,704 5,704
OMNREES 5,704
Fas 5,704
202 Odd| 13,000 13,000
s 13,000
01 2LHOHI 13,000 13,000
O¢ 48 0] 13,000
s 13,000
207 AN 17,548 17,548
Fas 17,548
03 Al 2| 17,548 17,548
OAIE A7 17,548
Fas 17,548
2 WEEE S& JIE N 80,000 80,000
s 80,000
101 @1Z44| 43,748 43,748
Fas 43,748
04 JIRHMIZ2Z2 S8+ 43,748 43,748
OIIRHMZ22X B 43,748
OAIEIZZE 2te| eIy 80,0002 x2%*185 29,600
s 29,600
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AR se)|ad SA seD|EE Ymeina
Y Ol BESM U NS JISH(SHHLRM/ Y - =&
ool DEX 2 NES 84 (SH9): &)
AR RN - T B9(31) - MRAR - BAS 0 bt Sl HimE==1

=R 6,720
= 6,720
IR 960
= 960
BT 400
2 400
0PER S 6,068
= 6,068

201 Br2Yy| 5,704 5,704
2 5,704

01 AFR22lH] 5,704 5,704
ONREE S 5,704
= 5,704

202 01t 13,000 3,000
= 13,000

01 =LH0H] 13,000 8,000
O=UoiH| 13,000
2 13,000

207 1| 17,548 17,548
= 17,548

CREEED] 17,548 17,548
OAIZ Y| 17,548
2 17,548

NBZ ZIBZS 9B U ASEAC 2 125,000 125,000
= 125,000

201 UBr2y| 3,000 3,000
2 3,000

01 AFR eIt 3,000 3,000
OMNSEE 79 2 fstoiseict 2aY| 3,000
2 3,000

202 01t 3,000 3,000
= 3,000

ENE] 3,000 3,000
Owstgaich 29 = 01| 3,000
2 3,000

301 YPEFI 1,000 1,000
2 1,000

09 EAAHINES 1,000 1,000
ONSIBizct 29 B4R B4 1,000
= 1,000

307 BIRH0IH 118,000 118,000
= 118,000

02 SRIFAANEEE 118,000 118,000
O EAC 28 X2 118,000
2 118,000
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A= slI=d A SR SMATRAS
M ot BESH L A I (sHNYM sY - s&
e NEE R MUSS =4 (el &)
= = L5
A2 -2 - ZH - B2)(3) - HIRAY - BES ot Sl HIDE2
MEE S 2,000 5,270 A3,270
I AFSHA SHEAAY 2,000 5,270 A3,270
301 LEtBES 2,000 5,270 A3,270
12 JIEtE 43 2,000 5,000 23,000
O848t S5 AIEE 24 2,000
HATALE Dl8t &= 420,000 1,410,000 2A990,000
= 200,000
& 220,000
A0 2= 20,000 1,410,000 21,390,000
401 AIEBIZ 0] 20,000 1,400,000 21,380,000
01 Al&t] 20,000 1,400,000 21,380,000
Olt=s2ds+ 34 L 2ZAIESA 20,000
NE=sHHAAD B NG5t 400,000 0 400,000
s 200,000
L= 200,000
405 Xt SHI 400,000 0 400,000
s 200,000
& 200,000
01 AL SZF=HI 400,000 0 400,000
OAEIR X 72 400,000
s 200,000
L= 200,000
=& Jdost 2 288 Jlsg 445,000 123,000 322,000
s 80,000
L= 365,000
2H[EH0H &7 4,800 6,000 21,200
207 AN 4,800 6,000 21,200
03 A& &I 4,800 6,000 21,200
OAHI=AT AIE 7] 4,800
0JIEAL 2 =H| 3,000
oJtEsalga 2AMEH| 1,800
b CHYAAE AL 13,800 15,000 21,200
207 AN 13,800 15,000 21,200
CEEET 13,800 15,000 A1.200
OIOHE AL AlE QI Y| 13,800
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R =] 2,400
0HEFOH| 200
oFER S 2,400
201 LBt IH| 42,760 42,760 0
02 S22 42,760 42,760 0
02222 2 HA 30,000
O zH| 2,000
OAIEEHIR XL 9,000
OXtE&e| 1,760
401 AIEBIL20HY] 200,000 279,550 79,550
01 Al&Hl 200,000 279,550 AT79,550
Obla AREE T4 ZA 200,000
A OIE DIz JHE Y DSE Mat 269,625 234,235 35,390
At BE 4 2 FIIXI &4t 113,950 86,300 27,650
101 1244 46,000 0 46,000
04 1222 S ES 46,000 0 46,000
OBER4 U 285 J|2HL A7BE 46,000
oJlEz 80,0003 *2%H 1692 27,040
orasddE2rY 7,680
o XtRrERI=E 1,280
e =] 4,800
0HEFOH| 400
oFEE S 4,800
202 o4t 4,950 6,300 A1,350
01 =LHAYI 4,950 6,300 A1,350
OAMILES S48 L SIDIX &4 o7 F 4,950
206 M= 4| 10,000 10,000 0
M=ZHl 10,000 10,000 0
Oozatd sk 2,000
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AR =2)|z SN SIIER A0IESAA
I AL 012 2 THHHDIE HE(SHYL/ 5 - =)
CHRlL ALDE 012 DlZ JHE L DEX Mja EERE)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
ST 3,000
O4+= U ZHE AKX 5,000
207 1N 53,000 70,000 A17,000
CREEET] 53,000 70,000 A17,000
ONEI S ¢ 82 7Y 10,000
OANBEE sotnel 15,000
OANBZE S 14,000
Oasal 2% 2 24 2| 4,000
OANE28 TM2HI(HIZ, X S) 3,000
OANEEE £lH7 7,000
DEI AT THHHOIZ H 65,000 53,500 11,500
101 Q1244 46,000 34,000 12,000
04 JRIHRZ RS ES 46,000 34,000 12,000
ODEX AL HHHHIIE e GipeE 46,000
olza 80,0002 2 +1692 27,040
0RIHYIZLY 7,680
oIRIRZEIEY 1,280
0524 4,800
O E EIH| 400
0FER2 S 4,800
207 AR 19,000 19,500 500
03 Al eI 19,000 19,500 500
Oasal 2% 24 HZ| 3,000
OAlE48 HIZ & T 2 2,000
OAEEH €lt7 14,000
AT HE 2 4SOl e 8,000 8,000 0
207 AR 8,000 8,000 0
03 Al ST 8,000 8,000 0
ONZAIE 29 HZH| 2,000
OalEal 29 MHZH| 2,000
ONZAIE 248 M2t 2,000
ONZAIE 23 T2l 2,000
AT RE DIE MDD 22DIE N 25,000 25,000 0
201 Ler2 | 5,000 5,000 0
02 BZ2ZH 5,000 5,000 0
OMTEY =1 B S )N X 5,000
207 AN 20,000 20,000 0
03 AlE el 20,000 20,000 0
ONBEE s 5,000
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|
ADF Ol & THHHD = N (St sY - S&)
AF OIZ Jlz HE E 0SS At

22N - B - O9I(3) - MRAY - BAS Sl HIDE2
CEITES 750 1,260 510
OEIIS| & ALADLESC|S HAX BAZ 750
405 XA S| 4,500 0 4,500
01 LS ZF S| 4,500 0 4,500
OLstal AR 2L 4,500
HM2AAH| (SIS AFIOIZIRA) (JIEHIIE 382,917 407,558 N24, 641
EEET 369,447 391,388 A21,941
NEET 369,447 391,388 721,941
101 121| 369,447 391,388 721,941
03 PIIHA2ZXES 369,447 391,388 ~21,941
OANEHAEE L AlL22| 369,447
0|22 278,440
PR 2,225, 7TA02I+82* 12042 213,672
<LpER 2,698,66020*221* 12012 64,768
=L FS PN 2,203
OpEZ 45,02521%2% 102 1,081
<LpE2 46, 720@x2H 128 1,122
oAXt=Y 8,232
IpEP 79,284 21810 6,343
<ULpRR 94, 44224210 1,889
0N PRI 16,320
OpR2 140,000 +8* 12012 13,440
<ULbEZ 120,000 %22+ 12012 2,880
oIESY 9,120
HHSX 40,00021+8* 124 2 3,840
JIEH 440,00021% 12042 5,280
0RIElag 50,0002 *5%* 1204 2 3,000
oAIRIRI 2R 3,088
D=z 14,8672 +8Z*20AI 2 2,379
<LpER 17, 70821%2220 Al 2+ 709
0EYDRAL 13,199
PR 14,8672 8L *BA|2H+10L 9,515
<ULpRR2 17, 708212 +8A| 24+ 13 3,684
0L EEIH| 27,845
<OpRZ 2,205, 7TA0R1+0.6+8*23] 21,368
<LpE2 2,698, 6602*0.6+2 23] 6,477
olll =4 200,0002/%10% 2,000
o0iH| 50,0002/ % 102* 123 6,000
=2 13,470 16,170 £2,700
J|1=2| 13,470 16,170 £2,700
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D s8I

S SIIER ADOIBAR
D HHRAAI (SIS AI0IEHTRA) (DIEHIIEH

© JI=2&Hl
AT A - Z - O9I(E) - HIRAY - BES Sl
201 B2 6,990 8,790
01 AHR2teld| 5,990 7,790
Ogt=ZH] 1,430
O=&tl 4,560
02 S3=2ZH| 1,000 1,000
O23223 € MM S 1,000
202 Odd| 2,880 3,780
01 2LHOHI 2,880 3,780
ORMESHRFA 2,880
203 A&l 3,600 3,600
04 SN2 HRFEHI 3,600 3,600
OAt0|Z2H 74 29 3,600
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AR 2N - I SRA(E) - MRAY - BES LD Sl B2
oHEFOHI 200
0E8E S 3,000
207 AN 5,000 5,000 0
03 Al | 5,000 5,000 0
OFE=d 24 2l & ANEARES 5,000
ABHNESTNESHYH 29 131,680 138,000 26,320
101 21244 61,680 68,000 26,320
04 J1tHI2Z2 XS 2+ 61,680 68,000 26,320
O%SNSENESUE 29 L HEE 22| 61,680
= 80,00021% 170 *3% 40,800
oF=RgIESE 11,280
oHEFIH| 600
oEEE S 9,000
201 LeH2E| 30,000 30,000 0
02 2234l 30,000 30,000 0
O35 & HAl 5,000
Ottt ==H| 20,000
OAIEZHIs X 5,000
206 M=z 4| 10,000 10,000 0
01 JHZHI 10,000 10,000 0
OsalE Xt 3,000
OMatE ME (24, H2Y ) 7,000
207 AN 30,000 30,000 0
03 Al A | 30,000 30,000 0
OBXNESHE 29 NM(AE, Edol ) 12,000
OEXt ZA8 222 5,000
OMEBE ElHl, EXHEHM S 6,000
OMEE 228 A 7,000
AEN=SHS 2 161,922 94,532 67,390
201 LB 71,122 71,122 0
01 AFR2ell 9,822 9,822 0
Oget==2d| 5,810
ogdxtz 4,012
02 S22 61,300 61,300 0
Oz332=2 & HAl 22,300
OH=H| 16,000
OAIZEHIR X 17,000
OXrHE| 6,000
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Sl SN SIS AL
AN BERM U MAD|E NS (SPHLM/5Y - 55)
USRS ASE 017 (ere )
% = SIE]
224 - FH - G2l(3) - MISAR - BES 0l abo SR ime—=T
202 o1t 10,000 8,000 2,000
01 SLH0It] 10,000 8,000 2,000
O%EXg07 2FA o] 10,000
203 PREAL| 900 900 0
PN ESSECESIE 900 900 0
O%BR2e7 ALFZ 900
301 YerEAS 1,900 2,800 900
09 SAIMHIXIZS 900 1,800 £A900
OZItal & MOIL BAXH 2a3 900
12 JIEI2 A 1,000 1,000 0
OB XIANE 243 1,000
405 XHAH S| 78,000 11,710 66,290
01 XAIUSEF SH 78,000 11,710 66,290
O%graANTAe =5 2EXY U S 43,500
O%ABXE Mg Y M2 S4 2HZH 7Y 30,000
024 S 7Y 30,000
Og3tat ZHAl JHl 2L 4,500
BN JEtEs 12,769 35,000 £22,231
Ao 2= 12,769 35,000 £22,231
401 AIEHIZLROHI 12,769 35,000 £22,231
01 Al&H] 12,769 35,000 122,231
OAEZEE 228 HAIEY SEr2l &3 12,769
HHSAAH| (S22 ASNAARL)(JIEHIIEH 277,538 207,044 70,494
29| 256,940 189,846 67,094
ol 256,940 189,846 67,094
101 124t 256,940 189,846 67,094
03 PO 2T+ 256,940 189,846 67,094
OANEHD EX(7Y) 256,940
== 196,513
OpER 2,255, 7402 *5% 122 135,345
ALpRR 2,548,660 2% 122 61,168
oAXt=E 5,777
<2 79,4162*102*5% 3,971
<LpEZ 90,272@1* 10 *2% 1,806
WE=R=Ewlk] 19,652
<IpEZ 2,255, 740+60%+5%+23| 13,535
<LpEZ 2,548, 660+60%*2 % <23 6.117
oXPE e 11,280
<IpEZ 140,000+524* 122 8,400
<LpEZ 120,000+224» 122 2,830
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Az =928 2 SIS AT
MM HYSA[H(SYIIEY ABARIDA)(JIEYIIEH
chel: ozl (EHl: &)
A2 -2 - BH - C2(5]) - HIPARY - HES Ofl koY Sl HRE2
OIESE 4,560
ISR 40,0002 42+ 122 1,920
IICE 20,00084+3% =12 720
= IE 60,00021%2%* 12 1,440
29 20,00021x2%* 122 480
0%IBAE 50,00021%2%* 122 1,200
oAIRIQI2RAE 2,162
DA T 14,891 21x5Z*20AI 2 1,490
<Lp>ET 16, 782212 *20AI 2 672
0oELIRLY 8,643
OpAZ 14,8912+BAI 252 * 102 5,957
<ULpAZ 16, 78221 %8 Al 2t * 10 2,686
0UBBHLY 1,553
AT 36,67020x2%* 122 881
OBEZ 9,170% 1+ 128 111
<LpEZ 46,72021% 1% 122 561
oIl =t 200,000 7% 1,400
oEZY| 50,0002+ 123]+7% 4,200
pIEEL 20,598 17,198 3,400
pIEEL 20,598 17,198 3,400
201 Yete g 10,098 9,698 400
01 AFRZ2IHI 9,598 9,198 400
@FIETER= T 5,458
o4 1,800
ome=t| 720
o=zl 1,620
02 222 500 500 0
OZZe3 2 MMl = 500
202 01t 7,500 4,500 3,000
01 =L0ib| 7,500 4,500 3,000
ORABE g2zx 7,500
203 YPEEM| 3,000 3,000 0
04 EASILRET 3,000 3,000 0
OASRALRL 2 3,000
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AR =)= BA 0 s2)|Ed XKD
N SETZAY HUB(SUHYL /S - 5E)
Chel: SEXCI|EEs (S A2
% S[E]
1224 - Z3H - S2(3H) - HEAMY - HES 04| &AboH 0;_1'5% Hnsz2
SA)|=2 X012 17,474,148 11,775,456 5,698,692
= 1,037,597
= 11, 168,000
[ 5,268,551
SEXCAIY BESHSEHUYSA/ s - 55) 17,256,281 11,554,925 5,701,356
= 1,037,597
= 11, 168,000
< 5,050,684
SEXCI|PESE 15,786,647 10,041,150 5,745,497
= 395,597
= 11,168,000
[= 4,223,050
ElYs A=ET 2 X 200,000 300,000 100,000
= 200,000
403 XHXISHISAH=0|& 200,000 300,000 A100,000
= 200,000
01 RIXISHHIX=E = 200,000 300,000 A 100,000
Olstds A=T 2¥ 1 200,000
= 200,000
SENCI|BRS 14,518,400 7,574,400 6,944,000
= 11, 168,000
< 3,350,400
403 XXISHHISAH=0| & 14,518,400 7,574,400 6,944,000
= 11, 168,000
[ 3,350,400
01 XIXISHHIX2E = 14,518,400 7,574,400 6,944,000
SEX T8RN 14,518,400
= 11, 168,000
< 3,350,400
XHE2AS X2 PR (M3 526,500 1,527,500 1,001,000
403 XHXISHHISAH=0|& 526,500 1,527,500 A 1,001,000
01 RIXISHHIXI=E = 526,500 1,527,500 1,001,000
OXNGEeEaS) |8 (HE) 405,000
OXHE2d5IE2) 8RN (THIRE) 121,500
N2 M2s2ASHAH(XIY) 97,150 106,400 19,250
= 97,150
308 AIXISHHSOIA 97,150 106,400 A9,250
= 97,150
01 XIXICHHIZAE X2 97,150 106,400 19,250
OXNECSRA NEszgsat 97,150
= 97,150
N2 H2SASHAH(EE) 66,200 75,800 29,600
= 33,100
[= 33,100
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excolEas (el @)
R - B E2l(B1) - HIRAY - BaS o4k G HlmS2t
201 LEt2 | 24,200 26,300 A2,100
= 12,100
= 12,100
01 AtR2t2id] 4,200 6,300 A2,100
OSSR TS u=sHI 1,000
= 500
& 500
OdgXk |2s W=| 1,600
= 800
& 800
Oodgtaeleld =l 1,600
= 800
& 800
03 A2 ZHI 20,000 20,000 0
OXNEBRE XPo4(ExsHE) 20,000
= 10,000
< 10,000
202 044l 42,000 49,500 A7,500
= 21,000
= 21,000
01 =LHO4HI 13,200 17,100 23,900
OXNEERE 2HEs sl 5,000
= 2,500
< 2,500
ONZX ARG =X 6,000
= 3,000
< 3,000
OXNESRE s 600
= 300
& 300
OZgA |95 u= 800
= 400
& 400
Oodstzeleld us 800
= 400
= 400
04 = HISH0YI 10,800 14,400 A3,600
OXNEZSRE o NsIA 10,800
= 5,400
< 5,400
05 S22 wWs0YI 18,000 18,000 0
OXNESRE HI|H= 18,000
= 9,000
< 9,000
EXSAIY BFIIZNT 2E X(XY) 61,747 61,700 47
= 61,747
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Exlcj i% TR )
. S[E =
SR B ORI(S) - HIRAY - SR HIDS2
308 AFXIEtHISOIE 61,747 61,700 47
= 61,747
01 AXSHHIMEERS 61,747 61,700 47
OsELSAY =53t N2 54,047
2 54,047
outstgsaosl 29 X2 7,700
= 7,700
ENEAY EEII=XE S KR (HE) 7,200 8,000 A800
= 3,600
= 3,600
201 er2g| 3,600 4,000 2400
= 1,800
= 1,800
01 A2l 3,600 4,000 2400
OsELSAMY &=53t X 3,600
= 1,800
= 1,800
202 O 3,600 4,000 2400
= 1,800
= 1,800
01 ZLHOYI 3,600 4,000 2400
OsEIEAY 2=t X 3,600
= 1,800
& 1,800
SENZAE 253t A& 280,500 328,700 248,200
308 AXIHHSOIA 40,500 68,700 28,200
01 MXSHHESEXES 40,500 68,700 28,200
OszXETRY APAF X 40,500
403 TXISHRISKH=0I & 240,000 260,000 20,000
01 KEXIEEHIALZ 240,000 260,000 220,000
OXZAE 83 J=28HAH 7= 240,000
SENZAE SRR 5,850 11,350 5,500
203 ZR=&H| 5,850 5,850 0
03 A=A A 5,850 5,850 0
Ot =23 AT 213 2,850
O=sELSAY s22d 2tg3l 1,500
Od4s 59 88 S 1,500
N=oE 29 23,100 47,300 A24,200
201 er2E| 19,600 22,600 23,000
01 AtR2tel| 19,600 22,600 23,000
Ogit=ZH| 12,500
O=g8+g 600
O=et| 2,000




AR se|a SN SelER NI
B SEXTAY HEBHSYHSSM/ 5L - 5E)
CHel: SEXITD|EE (E9l: &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
ogxt=z 3,000
O1l=H| 1,500
202 odd| 3,500 13,000 29,500
01 SLHOBI 3,500 13,000 29,500
OSEXNTAY 43 4257 3,500
SYIEER 81,410 33,800 47,610
WEI23t SEHEA 2L 4,790 8,740 A3,950
201 B3| 4,000 4,000 0
02 S22 4,000 4,000 0
OsZ=2se 29 4,000
01 LBBHI 790 790 0
09 ALK =S 790 790 0
OAQINE SESSHE &I 24t 430
Osei0l AT RS P4t 360
OlIcioE: XA 16,620 25,060 A8,440
201 LB 12,460 12,460 0
0T AFRZHRIH] 12,460 12,460 0
OUS0HH &= 2y 7,520
OAOIHER L8+t 4,940
202 Odd| 2,000 7,200 A5,200
01 SLHOBI 2,000 7,200 A5,200
OUEH YL 1,200
OAOIHER 22z 800
301 Et2d S 2,160 5,400 A3,240
09 SHAFAHIXIZE S 2,160 5,400 A3,240
OY=ET SLHIY S 2 #3DS 2,160
HIO® I=sZEH= H& 88 X2 60,000 0 60,000
308 XXIEHHISOIHE 60,000 0 60,000
01 AXIEHMEAEES 60,000 0 60,000
OHltie! Ys=e= HXEE N 60,000
HM=sHolEARH 1,388,224 1,479,975 A91,751
= 642,000
& 746,224
24z 4 XA(XH) 234,000 324,000 290,000
= 234,000
308 XXIEHHISOIH 234,000 324,000 290,000
= 234,000
01 AXSHBYLES 234,000 324,000 290,000
OZas s4dX& 234,000
= 234,000
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ENEEIEE) (19l &)
A2 ZB - SRS - KISA Sl HIDE2

301 E2d= 2,000 2,000 0
= 1,000
& 1,000

09 EAFAHIXI RS 2,000 2,000 0
OY4s HE5It DEX| 2,000
=2 1,000
= 1,000

303 Zal= 11,000 11,000 0
=2 5,500
= 5,500

01 Zas 11,000 11,000 0
OZ4s 11,000
=2 5,500
& 5,500

Sgol shaH 15,300 14,400 900
= 15,300

308 AFXISHHISOIE 15,300 14,400 900
= 15,300

01 XFXIEHH 15,300 14,400 900
O=s&X 15,300
= 15,300

Sgol st us=2Y 1,400 3,200 1,800
= 700
[ 700

201 e2g| 1,400 3,200 21,800
= 700
s 700

01 AtR2te] 1,400 3,200 21,800
O=golx 1,400
= 700
< 700

S0 StEHH ns2Y X (4Hal/2E) 52,000 52,000 0
= 26,000
= 26,000

201 k2| 16,000 16,000 0
= 8,000
& 8,000

01 A2l 16,000 16,000 0
O4HSE W= 16,000
= 8,000
= 8,000

301 2= 10,000 10,000 0
= 5,000
= 5,000
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S Al olol2iS A (Srel: &)
% 5 S[E -
22N - ZH - 22I(E2) - MRA LD Sl B2
01 AFR2eltl 23,000 25,000 22,000
Oststd = X 23,000
= 11,500
< 11,500
03 A2 28,000 28,000 0
Ost&stHH n=sd 28,000
2 14,000
< 14,000
202 Odd| 6,000 6,000 0
= 3,000
< 3,000
01 =LHO4HI 6,000 6,000 0
OstsHHl g8= 6,000
= 3,000
< 3,000
301 Et2d =S 11,000 9,000 2,000
= 5,500
L= 5,500
09 HAIAHIXIRE S 11,000 7,000 4,000
OstsHHl WAL I 2 11,000
= 5,500
= 5,500
S0l stsHHl ZEEs X 130,000 130,000 0
307 gI2+0|& 130,000 130,000 0
02 CIZHAAAIHE X 130,000 130,000 0
OsQl SHaTH 130,000
4H W= A XIE 10,000 17,480 AT,480
307 g12+o|& 10,000 10,000 0
02 QIRHAAAIIE X 10,000 10,000 0
OFL 4-HHA 10,000
NUsgel 4329 = 120,000 150,000 230,000
403 XX SHHISKH=0I 120,000 150,000 230,000
01 HXISHMAZ2EER 120,000 150,000 230,000
ORIt sl 822 120,000
S0l FESFTUEIX 13,750 13,750 0
= 5,500
< 8,250
201 B2 13,750 11,750 2,000
= 5,500
L= 8,250
03 HAH2 S| 13,750 11,750 2,000
Osgiol B2s ZEME X 13,750
= 5,500
L= 8,250
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S Al olol2iS A (Srel: &)
2 -2 B S9I(3) - MIRA Sl HIDS
AOIHSER! e-HIZLA AS 45,000 48,600 3,600
= 45,000
308 MHXIHHSOIH 45,000 48,600 A3,600
= 45,000
01 AXISHHESEx 45,000 48,600 3,600
Osgel e-HI= 45,000
= 45,000
AOIH =&l e-HIZLIA 30,000 32,800 /2,800
= 15,000
= 15,000
201 er2g| 20,000 20,800 2800
= 10,000
= 10,000
01 At22tel| 20,000 20,800 A800
OdEsgel |4 20,000
= 10,000
= 10,000
202 O4Hl 2,000 2,000 0
2 1,000
= 1,000
01 2LHOHI 2,000 2,000 0
OdEsgel |54 2,000
= 1,000
= 1,000
301 2= 8,000 8,000 0
= 4,000
= 4,000
09 HAHAHIXIRES 8,000 8,000 0
OdEsgel &5 8,000
= 4,000
== 4,000
Hotsg 2dst X2 16,200 16,200 0
308 MHXIHHSOIH 16,200 16,200 0
01 AXISHHIMEERS 16,200 16,200 0
OXPeH=9 & 16,200
SE g0 A2y 36,000 36,000 0
= 36,000
308 MHXIHHSOIH 36,000 36,000 0
2 36,000
01 ARSI SEx 36,000 36,000 0
OE=g =90l 36,000
= 36,000
2084 N 12,174 17,840 A\b,666
201 23| 10,174 10,640 NAB6
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a3 =)= A sl XIRD|1E0
M EXNCAY SHsH(=oLdsd/s5Y - 5&)
thelr S sYoEsy (el &)
A - 2N - FH - E2(3) - HRAIY - BdS Oil &beH OE;I/E& HwE2
01 AtR2t2id] 10,174 10,640 A466
O4H =4 5,240
O=soXEA E4 4,934
202 ol 2,000 7,200 25,200
01 =4I 2,000 7,200 25,200
OsdRENEY HRFH 1,200
O4HEd d2FH 800
YA (s2II1=3 KIJAJIE D) (JIEHJIE 217,867 220,531 A2,664
ol A| 182,847 178,941 3,906
ol | 182,847 178,941 3,906
101 1244 182,847 178,941 3,906
03 SIHAZZ2 A= 182,847 178,941 3,906
SR (5Y) 182,847
oJlEZg 2,345, 7403 x5 B+ 128 140,745
oARE AT 140,0002*5F*12& 8,400
odSE&+Y 36,6705+ 122 2,201
0HEEIHI 2,345, 740 & +60%*52 2 14,075
o&EZZaY 10,380 *1.5+x5H*60 Al 2+ 4,671
o Xt=E 83,0503 *5%H 18 7,475
otEY 2,880
BH<2 Xt 40,0002 *3H*12& 1,440
== 60,0002+ * 122 1,440
o=&0b]| 50,0003 *4H*123] 2,400
J|12&| 35,020 41,590 26,570
Jl2Zztl 35,020 41,590 26,570
201 LB Y| 21,184 22,518 21,334
01 ArR2teld] 18,207 19,541 N1,334
Oget==ZH| 14,931
o=l 3,276
02 222l 2,977 2,977 0
03322 % MM S 1,477
OAIEEHIR XL 1,500
202 044l 3,636 8,872 Ab,236
01 =LHO4HI 3,636 8,872 Ab,236
2A 3SYR FA 1,000
OX&|18 gFa 2,636
203 YR F=&H| 10,200 10,200 0
01 J|2A2I PRSI 6,600 6,600 0
OJl=Xd= 249 6,600
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A= =gl 2A - 2|23 XD =
M. HYSHBH(sYII= K= (IIEHIIEL
ol J|2&H| (Che: &)
= _ -IL_‘j
A2 - 24 - F2 - H2((3H]) - MIRAIY - BES 04| &AboH gﬁéigi Hnsz2
M4 ENSILRFEHI 3,600 3,600 0
OXgo12n 849 3,600
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{(B1H]) - HIRAHY - BES

SIEL=
e

10,660,305
7,018,050

99,170

3,543,085

8,149,340

r

I

10,528,963
7,018,050

99,170

3,411,743

8,028,060

2,500,903

6,302,137
4,351,950

1

99,170

,851,017

3,964,380

2,337,757

O

H

1
1

,342,000
,342,000

1,377,250

A35,250

W

1
1

,342,000
,342,000

1,377,250

235,250

W

1

1
1

,342,000

,342,000
,342,000

1,377,250

A35,250

W

750,000
750,000

776,000

226,000

W

750,000
750,000

776,000

226,000

W

750,000

750,000
750,000

776,000

226,000

W

157,000
157,000

157,000

W

157,000
157,000

157,000

H

157,000

157,000
157,000

157,000

o

16,000
8,000
8,000

16,000

My

16,000
8,000
8,000

16,000

My

16,000

16,000

8,000
8,000

16,000

H

37,050
37,050

37,050




A= slI=d £ s2)|= D=2
Hu: HIEA JIE2I(SUHYLN/5Y - &
CHl: DEX AZOIEMAM J|EET (19l &)
= = L5
AR 2N - I SRA(E) - MRAY - BES dey Sl B2
308 XXISHHISOIHE 37,050 37,050 0
= 37,050
01 AIXIEHBAEES 37,050 37,050 0
Ogdis 2Fx 2 37,050
= 37,050
SJt2eldolis HEYNE 29 90,000 90,000 0
= 45,000
= 45,000
101 21244| 40,000 40,000 0
= 20,000
< 20,000
04 JIRHMI22 X ESE= 40,000 40,000 0
OgNE JIZN2Z2 A 2= 40,000
= 20,000
< 20,000
201 LeH2E| 26,000 26,000 0
= 13,000
< 13,000
01 AFS2ell 20,000 20,000 0
OYHIE ArR2eld| 20,000
= 10,000
< 10,000
02 2322l 6,000 6,000 0
Ogle 3324l 6,000
= 3,000
= 3,000
206 M=z 4| 24,000 24,000 0
= 12,000
= 12,000
01 JHZHI 24,000 24,000 0
OYHIEE THZHI 24,000
= 12,000
< 12,000
2ot2elHaiE FYHE 22 (X) 135,000 180,000 A45,000
= 135,000
308 XHXICHHISOI® 135,000 180,000 A45,000
= 135,000
01 HRSHZAEES 135,000 180,000 245,000
O=Jt2eldoiE 2He 2 XA 135,000
= 135,000
SHME HEEAA 2H(XIH) 2,500,000 500,000 2,000,000
= 1,250,000
L= 1,250,000
308 XXISHHISOIH 2,500,000 500,000 2,000,000
= 1,250,000
= 1,250,000
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2ll=d Jlzd Jl=Es
= D
SE Mg (el EJ)
2 - 24 (3120) - HIRAY - BSS Lro Sl HIDE2
01 Xk 2,500,000 500,000 2,000,000
Os 2,500,000
= 1,250,000
< 1,250,000
SEAME ) 29 XJ(XE) 255,000 255,000 0
= 255,000
308 AFXIEHHISOI 255,000 255,000 0
= 255,000
01 XX 255,000 255,000 0
O& 255,000
= 255,000
=2R 7 356,400 0 356,400
= 356,400
308 AFXISHHISOIE 356,400 0 356,400
= 356,400
01 XEXICHH 356,400 0 356,400
ONEER 356,400
= 356,400
EEAA( 33,000 33,000 0
= 16,500
= 16,500
201 LEH2H| 9,000 9,000 0
2 4,500
= 4,500
01 A2l 9,000 9,000 0
(OF=1si= 9,000
= 4,500
= 4,500
202 O 24,000 18,000 6,000
= 12,000
= 12,000
01 =U 16,000 10,000 6,000
Os 249 =X 16,000
= 8,000
& 8,000
03 =21 8,000 8,000 0
O 8,000
= 4,000
= 4,000
EESEN N0 99,170 41,290 57,880
Il 99,170
308 AFXISHHISOIH 99,170 41,290 57,880
Il 99,170
01 XkXI 99,170 41,290 57,880
O 99,170
Il 99,170
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AR se)|ad A
DI BTN )B2I(SYHYLN/ 5L - 5E)
ool DEX AYOIHMA B2

AR 2N - I SRA(E) - MRAY - BES dey Sl B2

O=&tl 3,360
ogdxtz 5,000

02 23224l 4,050 4,050 0
OAlIEZHIs X 4,050

202 Oid| 1,400 7,000 25,600

01 SLHOHI 1,400 7,000 25,600
OsglisEs gRF2 1,400

203 HRF&H| 1,350 1,350 0

03 AIMZ=RIHR A 1,350 1,350 0
OJI=E220F AIHHRFA 1,350

20z D= B3 3,279,806 2,350,260 929,546
= 2,005,000
L= 1,274,806

FJEHAS ANER SERJHE 2 (RE) 12,960 12,960 0
= 6,480
< 6,480

201 LB 2,960 2,960 0
= 1,480
< 1,480

01 AFR2ell 2,960 2,960 0
OANIEE 8 =324 2,960
= 1,480
= 1,480

202 Oid| 10,000 10,000 0
= 5,000
= 5,000

01 ZLHOAYI 10,000 10,000 0
OANEE ) I=NARY 10,000
= 5,000
L= 5,000

FdEHAS ADER HYXJHE 2L (XIH) 83,520 83,520 0
= 83,520

308 KX SHKISOIH 83,520 83,520 0
= 83,520

01 AXISHBAEES 83,520 83,520 0
OADNIEE SZXIRHE XJAAS 83,520
= 83,520

ot AF et iD= 22 29,400 48,000 218,600

403 XX SHHSK201& 29,400 48,000 218,600

01 XIHMA=ZEE 29,400 48,000 A18,600
O=RSEFI| B2 AIHA 10,200
OFolItA0 2tMet 2EERE NHSHII| B 19,200




A= sgII=d A SR J=Es
B HEEA JISPD(SUNLLM/ Y - SE)
2 oDl= D= B2 (el &)
= = L5
A2 -2 - ZH - B2)(3) - HIRAY - BES s Sl HIDE2
JlE=Hs (S OtEU ASh= & AlY 90,000 60,000 30,000
403 XX HHSK20[1& 90,000 60,000 30,000
01 AXSHMA=E R 90,000 60,000 30,000
OJIZH3 (S OlEH ASht= £ 90,000
=)l 22U X2 (A) 8,000 8,000 0
= 4,000
< 4,000
202 044l 8,000 8,000 0
= 4,000
L= 4,000
03 =220 8,000 8,000 0
OR0DI==20F 82 I=1= 8,000
= 4,000
< 4,000
= ADI= ANE(R0DI=Z0k) 1,522,000 1,199,000 323,000
= 1,522,000
403 XX SHHSKH20[& 1,522,000 1,199,000 323,000
= 1,522,000
01 AXIHMA=E = 1,522,000 1,199,000 323,000
ORIl &0l BSAS 1,522,000
= 1,522,000
SOITHS 2 (20) 20,000 20,000 0
= 10,000
& 10,000
201 B2 12,000 12,000 0
= 6,000
& 6,000
01 AtR2teld| 12,000 12,000 0
OsoItis AR S 2| 12,000
= 6,000
& 6,000
202 04| 5,000 5,000 0
= 2,500
& 2,500
01 SLHOHI 5,000 5,000 0
Osgeltist s&IIsXI 5,000
= 2,500
L= 2,500
206 M=z 4| 2,000 2,000 0
= 1,000
L= 1,000
01 =4l 2,000 2,000 0
Osgoltist Aamz 2,000
= 1,000
< 1,000
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= s@J=& 2A 0 =

¥ FESY D23 (s8ilYdrt/sY - s8)
R Aoz dDls 22

x 5 SIE] -
A2 -2 - B S2(3) - HIRAR - BES o8y SR HimE=T
301 LB 1,000 1,000 0
= 500
= 500
09 EAFAHIXI RS 1,000 1,000 0
OIS FAT Bat 1,000
= 500
< 500
SESMS MAXIE 24,000 48,000 £24,000
403 REXISHHIS =0/ & 24,000 48,000 £24,000
NBGEEPEEES 24,000 48,000 24,000
OLUTHIHEIS 22| 0fAHHICH EHAIEEX] Al 24,000
ADIESSXRHATE 309,000 103,000 206,000
= 309,000
403 REXISHHISRH=0/ & 309,000 103,000 206,000
= 309,000
01 AXTHINEEE 309,000 103,000 206,000
OADIESY HAEHE RSY =4 Al 309,000
= 309,000
ADIE HAEHS D3 25,000 25,000 0
= 25,000
403 REXISHISRHZ0IN 25,000 25,000 0
= 25,000
01 RXSHEEE 25,000 25,000 0
OADIE HAEHIE X 25,000
= 25,000
NEEBEEE! 84,000 84,000 0
403 RIXISHHSRH=0IH 84,000 84,000 0
01 RXSHEEE 84,000 84,000 0
OANE2I0 BJH ALE 23 24,000
OA&TA D20y S22l Al 60,000
ASSI0) HILRIZZ THIIR Al 60,000 60,000 0
403 REXISHHIS =0/ H 60,000 60,000 0
01 RXSHF=EEE 60,000 60,000 0
OANELI0 HILIXIZ2 THIIX Al 60,000
A0S oS oI L YR Al 81,000 81,000 0
308 RHXISHHISOIN 81,000 81,000 0
01 AXSHZAEES 81,000 81,000 0
ORINE HHE oIF L 2H Al 81,000
2A0+E AN 30,456 43,380 A12,924
201 L2 13,950 15,520 A1,570
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s8R 2A 0 s8lsd JlsEsHh

D HEASY JIsES(sElYN/5Y - sF)
DEDIE Dl 2

A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
01 AlR22H] 13,950 15,520 21,570
Oggag| 7,430
Of==Ea=" 2,000
oYtz 2,000
o=z 2,520
202 Oit| 1,800 9,000 AT,200
01 =04 1,800 9,000 AT,200
O0I4Z J1&e22 42=x 1,800
206 THEH| 14,706 16,340 A1,634
01 K= 14,706 16,340 A1,634
O4ESM2 MASEA ASAY W2 7,000
ORIZE MANEEHA ADIZ AEHE 7,706
AMRES FBY Jlz22 30,000 30,000 0
403 XX SHHISRHZ 0| & 30,000 30,000 0
01 AR SHNEES 30,000 30,000 0
OSMal 2182 LA 30,000
OIADIA THS B4 THOHOIZAIAES 2= Al 42,000 63,000 ~21,000
403 RIXISHHSRH=0IH 42,000 63,000 ~21,000
01 RXSHFEEE 42,000 63,000 A21,000
OOIADIA THS D<= THAHOILAIAE PEAlE 42,000
saiEsa 29 XY 45,000 54,000 9,000
= 45,000
308 XHXISHHISOIA 45,000 54,000 9,000
= 45,000
01 AXSHZAEES 45,000 54,000 29,000
Ol Wet=l|=2a &l X2 36,000
= 36,000
OZHHYA 22 Al 9,000
= 9,000
I=E R4WH XY XEY A)IE2S 420,000 300,000 120,000
403 KX S AH20| & 420,000 300,000 120,000
01 RXSHAZEE 420,000 300,000 120,000
OYsTE L4H N FEH sl 23 420,000
BB EEE! 10,800 8,200 2,600
403 XX SHHISRHZ 0| & 10,800 8,200 2,600
01 AXISHRIZEE 10,800 8,200 2,600
0T sS4 NES 22 A 10,800
sElaat Jlz23 X2 9,170 10,200 21,030
201 Lpr2 | 7,370 8,200 1830
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=)=
HEEY JsBEs(s
2Dz DIz 22

A . SN EH . S (3H) - MSAR - B Sl HRS2
01 At22t2(H| 7,370 8,200 A830
OREL(AAIZ, DHAHIZ S) 6,370
OXHA I HXI2CHE HE) 1,000
206 MZ 8| 1,800 2,000 A200
01 MZHl 1,800 2,000 A200
OJXIgtiE &as Mg 7 1,800
MASHS U= EE82 2235 MY 103,500 9,000 94,500
403 XIXISMSAH=01H 103,500 9,000 94,500
01 AXISHMA2E = 103,500 9,000 94,500
OLASES U=z SE&= 25 AIY 30,000
Ollss sg&a2(4E)2 888 Eday 2R
HIOIE (F=2IZHO{ Ol AF) 73,500
LEIBDIEHA SHRHEH &0 22 AlY 6,000 0 6,000
403 XIXISHHISAH=01H™ 6,000 0 6,000
01 AIXISMIRE2E 6,000 0 6,000
OLEIPIEHA Y 20 22 AlYg 6,000
I} MAH| 22 st LA J|HE A 30,000 0 30,000
403 XEXISHMSAH=01H™ 30,000 0 30,000
01 MXISHMAE2E = 30,000 0 30,000
O MatH| 212 {8t Y3 JIAHE
DIEINES 30,000
ARDb 2t=XFS S MHHD 1= 24,000 0 24,000
403 XIXISHISAH=01H™ 24,000 0 24,000
01 XXM K22 24,000 0 24,000
OARF 2t4=XH=3H MED 1= AlY 24,000
==H2l Ci=2 SJ|Mol & 2 120,000 0 120,000
403 XHXISHHSA=201H 120,000 0 120,000
01 ARSI RH=2E = 120,000 0 120,000
O=S=2242| T SD|MH8) |29 Al 120,000
ADIEE D=2 2288 JIsd SsS&2 Mbt 60,000 0 60,000
403 XEXISHMSAH=01H™ 60,000 0 60,000
01 MXISHMAE2E = 60,000 0 60,000
OANIER D=2 288 DIsd EZS&S MAt
Al 60,000
DNEZ FAMXEsE A= EiE2 774,870 1,111,020 A336, 150
= 617,000
= 157,870
Y ol & 248 1,800 2,000 A200
206 XH2b| 1,800 2,000 2200

- 1122 -




MRS CEEED
224 ZH - S(B1) - HIRANY - By Sl HimE=T
01 =4l 1,800 2,000 A200
Ons 48 1,800
=g ADJIE AN-E(ASD 610,000 925,000 A315,000
= 610,000
403 XXX SAH=201& 610,000 925,000 A315,000
= 610,000
01 RAXISMAE2E 2 610,000 925,000 A315,000
OFAZ0F D I=E2SAHY 610,000
= 610,000
SIS 2F(235) 14,000 14,000 0
= 7,000
< 7,000
201 LBt2FH| 9,200 9,200 0
= 4,600
< 4,600
01 AtR2teld] 9,200 9,200 0
Oseloltist ZAE S 29 9,200
= 4,600
< 4,600
202 044l 2,000 2,000 0
2 1,000
< 1,000
01 =LHO4HI 2,000 2,000 0
O=golty 2,000
= 1,000
& 1,000
301 LB EF 2,000 2,000 0
= 1,000
& 1,000
09 SHAAHIXIEZ 2,000 2,000 0
O=sgolty 2,000
= 1,000
& 1,000
307 QI2t01 & 800 800 0
=2 400
= 400
06 283 800 800 0
OsZel 800
= 400
= 400
St 29X 12,870 21,320 A8,450
201 LEt2 Y| 11,070 12,320 A1,250
01 AR ZE2IH] 11,070 12,320 AT,250
Oget===H| 5,000
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A= selI=d 2A 0 sellsd JsEsh
M HASY JIEES(sHMLM/sY - 58)
&2l ASHEZ D=2l & HHsEsY (2 &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl blmz2
HY2IAH(sLII=R Jl=22D) (JIEH/DIE 131,342 121,280 10,062
Jl=&l 21,118 19,112 2,006
Jl=&Hl 21,118 19,112 2,006
201 LEH2 | 7,915 8,706 AT91
01 AtR2tell 7,915 8,706 AT91
Ogit==gH| 5,115
o=l 2,800
202 O 10,203 7,406 2,797
01 2LH0b| 10,203 7,406 2,797
OJ|=ge = 1,759
OJl=2g &K 8,444
203 HRF4| 3,000 3,000 0
04 A2 HRFAHI 3,000 3,000 0
Oll=eEsl 2 3,000
2| 110,224 102, 168 8,056
Algb)|Es 2R X (21248]) 39,034 36,480 2,554
101 Ql24d| 39,034 36,480 2,554
03 RIIH A2 2R 2= 39,034 36,480 2,554
Os&2 Yols g2 39,034
o238 2,465, 7403128 29,589
oARHH 140,000+ 122 1,680
odsEdE 36,6703+ 128 M
odEFJHI 2,465, 7403 +60%*23] 2,959
&2 16,311&*100A[2¢ 1,632
SN 86,9933 19 1,653
otEE 480
BN 40,0002 +12& 480
oEF0H| 50,000&*123] 600
DI 2SR (L1248]) 34,530 31,221 3,309
101 Ql24d| 34,530 31,221 3,309
03 RIIHA2Z 2R 34,530 31,221 3,309
Odll+==E ZREX 34,530
olles 2,005 7402 12€ 26,709
oAlRE e +E 140,000+ 128 1,680
oHEFIHI 2,225, 7403 +60%*23] 2,671
o Xt 77,8853 15 1,169
o= R 14,6042 %100A1 2+ 1,461
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=BIES
eI (SIIE I
22|

=221 (JIEH/DIE}

F A FE - ORI(B) - NIRAY - BAS Sl HimE=T
oI EaE 240
J|E 20,0002 * 12 240
0= Z 04t 50,0002 %123 600
S)lz 29X (124H]) 36,660 34,467 2,193
101 124H] 36,660 34,467 2,193
03 PIHA2ZRE S 36,660 34,467 2,193
OHIH =S SIIAAXA BX 36,660
o= 2,315, 74021% 122 27,789
ORID Xt ACH 140,000 %122 1,680
CUDE R AT 36,67021x 122 441
0B S| 2,315, 74024+60%*23] 2,779
HROE AL 15, 1592 * 100 Al 2+ 1,516
oo TpAC 80,8482 17 1,375
pJE=N 480
MEYN 40,0002 %122 480
0= R0 50,00024% 123 600
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A= sHII=d A SR sENZ
M sENZER o7 2 D= B (sl 58 - =5)
ciel: sEMEo| Zeis) ECE-ED
% x SJE]
A3 - RN - B - B9I(3) - MY - BES 0l st SR ime—=T
=)= sENH 4,092,213 4,166,674 AT4,461
= 1,185,600
= 575,000
s 2,331,613
sSENAEZ 27 2 Dz EZ (MY sY - =&) 3,785,112 3,873,729 288,617
= 1,185,600
s 575,000
= 2,024,512
SEME| &gt 2,199,749 2,327,970 A128,221
= 487,000
s 470,000
= 1,242,749
SHtE SEE JI=X3 260,000 0 260,000
s 200,000
L= 60,000
403 XX SHHSK201& 260,000 0 260,000
= 200,000
= 60,000
01 AXISHt=Ex 260,000 0 260,000
Ositg sl K& 260,000
s 200,000
L= 60,000
S482 JiE)|1E EEs N (&) 40,000 0 40,000
s 20,000
L= 20,000
201 LEt2 | 38,000 0 38,000
= 19,000
= 19,000
01 AFR2elt| 38,000 0 38,000
OJISEEN SAefdst & S ae| et w=s 38,000
s 19,000
= 19,000
202 04| 2,000 0 2,000
s 1,000
L= 1,000
01 2LHOHI 2,000 0 2,000
OsttE 371 2&s 88 JI=Xd 2,000
sy 1,000
L= 1,000
SN2 JIBI|IE BEES XA (XIF) 100,000 40,000 60,000
s 100,000
308 KX HHISOIH 100,000 40,000 60,000
s 100,000
01 AXIEHEAERS 100,000 40,000 60,000
Os420t3J12 H&ESH KA 100,000
s 100,000
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AR so)|sd SN 5YIER SEXVD
B SENAYE 07 U JlE ES(STHYSM/SY - 55)
o9l sEMEO] 2 (E9l: &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
=g ADls AN (sEXE) 155,000 215,000 260,000
= 155,000
403 XtXIHHIS XH=0]& 155,000 215,000 260,000
2 155,000
01 XXM A=Ex 155,000 215,000 260,000
OzaXel sA8 I8 AM3t Alg 35,000
= 35,000
OZRYE IF SIS JISAY 35,000
= 35,000
OHRO| B H2RE JlEAlY 50,000
2 50,000
O ATHE 0188 # £ RIZAI 35,000
= 35,000
SEO2ASNAHAIL(H) 650,000 812,500 A162,500
403 XX HHSK201& 650,000 812,500 162,500
01 XIHMAZ2EER 650,000 812,500 162,500
OsE0ZASXIAFAIE(XE) 500,000
OSE02 =T AR AL (ZHIRL) 150,000
=0l JISAISE AIEEH JHH XA (HEH 97,500 130,000 A32,500
408 XHXIEHHI S KH201E 97,500 30,000 232,500
0 X SHIEEE 97,500 30,000 232,500
OSAIIBAR A LBYIHE K2 (H 75,000
OSYIBARZALFHIHL TR (HIRE) 22,500
=0l FHEs JI=Xd 129,000 132,000 A3,000
308 AXIHHSOIA 24,000 72,000 A48,000
01 IXIEHBAEES 24,000 72,000 A48,000
OXgsstE J18J1= E&E3 AlY 24,000
403 XX HHSK201& 105,000 60,000 45,000
01 XIHMA=ZEE 105,000 60,000 45,000
OFOIHQl &=L HABS Al 60,000
O%.5.8 NE SRS Al 45,000
S0 A8 FHII=XE 100,000 125,000 225,000
s 100,000
403 XtXITHIS AH=0[& 100,000 125,000 225,000
s 100,000
01 XISHMAZ2EER 100,000 125,000 225,000
Osgel A1 Fges X 100,000
s 100,000
=99l SECH DSSANA(MEXER (HE) 7,000 7,000 0
= 3,500
= 3,500
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A= =)= 2N s2)I=d =X
Y SENUEE 07 U Iz PR(SHLSM/SY - 5B
ool SEMEO B35t (SH9): &)
AR A M. O (BH) - HIRAY - B2 0 Abok G HIDS2
03 A2 ZHI 2,250 2,250 0
O=ZEAAS HDE A 2,250
203 LR=&IH| 1,350 1,800 450
03 AIBF=RHR =AY 1,350 1,800 450
OAIHMSR=EIH| 1,350
SEHEFH(XY) 77,844 63,000 14,844
308 XX SHHSOIA 77,844 63,000 14,844
01 AIXSHHBAEXZ 77,844 63,000 14,844
OMEDHHS H2X 23 77,844
SENE 2435 XA 14,310 4,500 9,810
201 LetE2HH| 10,260 0 10,260
01 AIR22t2|8I 10,260 0 10,260
Os&04d el g4 5,760
Osxtel oEE2 s 29 4,500
301 dEtENZ 4,050 4,500 A450
09 SHAIAHIXIAZ 4,050 4,500 A450
OsZA 843t M2ns B4t 2,700
OMEDHAS] MW FSHAL 1,350
A=Y OIEY otMate| AFAIY 325,000 325,000 0
= 325,000
403 XX SHHISKH=0|H 325,000 325,000 0
= 325,000
01 RIXISHHAZ2E X 325,000 325,000 0
OX=YE U otda| AlY 325,000
= 325,000
XN MEX I sE0Adeld)2dd s 32,100 32,100 0
308 XX SHHISOIA 32,100 32,100 0
01 AIXHHBAEXEZ 32,100 32,100 0
OXY s&04eld 24 W=s XJ 10,500
O=sZIa =8 M2 e 21,600
101 JDIPAILH HEE 2HEIIS AE35 AIY 30,000 30,000 0
403 XHXISHHIS RH= 0| & 30,000 30,000 0
01 XIS G=EE 30,000 30,000 0
O121 JIPAILH XSS 2tHIIS &3S AlY 30,000
SIS JI24E DBIEdIs A 50,000 100,000 250,000
nag 50,000
308 XIXIHHSOIA 50,000 0 50,000
Fag 50,000
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1T

it

0 o

=Bl
ENREE 17 L IS 2oH &)
EZago| geg) (19l &)
2.2 - ZH - OI(S) - HIRAY - BAS Sl HimE=T
01 AXSHMBAEEZ 50,000 0 50,000
Ot JIS4E 0BHIEd= K1 50,000
s 50,000
SENE A5 ,383,590 1,356,600 26,990
= 698,600
s 105,000
& 579,990
SHAD|=AIE(MED|=) 550,000 440,000 110,000
= 550,000
403 RHXISHISAH=201& 550,000 440,000 110,000
= 550,000
01 AXSHMA=E R 550,000 440,000 110,000
O=sEXE 88 IRZ20d 2= MY 50,000
= 50,000
OSHHA 858 Jl=X2 500,000
= 500,000
AZHE T2 23 X 30,000 0 30,000
s 30,000
403 XXX SAH=201& 30,000 0 30,000
as 30,000
01 AIXIHMA=E = 30,000 0 30,000
OXZME =27 29 XA 30,000
s 30,000
U2 22 oS} 50,000 0 50,000
s 50,000
403 RtXISHHISAH=01H 50,000 0 50,000
s 50,000
01 AXIHMA=E xR 50,000 0 50,000
OSLRDR 224 50,000
s 50,000
223 ASs 22 2F 100,000 100,000 0
= 100,000
403 XXt SA=01H 100,000 100,000 0
= 100,000
01 XXM 22 2= 100,000 100,000 0
O=Z23 253 100,000
= 100,000
SAIs HsgEs N 25,000 50,000 A25,000
as 25,000
308 AHXISXISOI& 25,000 0 25,000
s 25,000
01 AXSHMBAEEZ 25,000 0 25,000
O EA 23t HSE 25,000
s 25,000
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AR so)|sd SN 5YIER SEXVD
B SENAYE 67 U JlE BS(STHYSM/SY - 55)
ciel: sEXE ASs) (E9l: &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
e 018 AEIISIIE us(XIF) 30,600 37,500 26,900
= 30,600
308 AXIHHSOIA 30,600 37,500 26,900
2 30,600
01 AXIEMBAEES 30,600 37,500 26,900
O 0|8 AZINE Il U= K& 30,600
= 30,600
sYOIME 2Y X (sEXHAn) 36,000 36,000 0
= 18,000
= 18,000
201 Loy 25,000 18,000 7,000
= 12,500
< 12,500
01 AFS2ell 25,000 18,000 7,000
Oseolts 29 25,000
= 12,500
= 12,500
202 048] 4,000 4,000 0
2 2,000
< 2,000
01 SLHOHI 4,000 4,000 0
Osgoitfst SXIISX 4,000
= 2,000
< 2,000
01 YBEEZ 7,000 4,000 3,000
= 3,500
< 3,500
09 ALAHIXIRS 7,000 4,000 3,000
OseoIthsr EaXt 24 7,000
= 3,500
= 3,500
sEHE 528 84 X 216,000 207,000 9,000
308 XX HHISOIH 30,000 0 30,000
01 AXSMBAEES 30,000 0 30,000
OHICHS 5 MEIIE I Al 30,000
408 KX EHHIS K201 & 186,000 207,000 £21,000
01 XX ESE 186,000 207,000 ~21,000
OSZD8SY S4 AlY 96,000
OSEXET #IHL Al 90,000
Asr=sgy 24 K& 150,000 210,000 260,000
403 XtXIHH S H=0]& 150,000 210,000 260,000
01 RAXISMAE2E 2 150,000 210,000 260,000
OXlssgY |4 JI=XE Alg 150,000
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AR so)|sd SN 5YIER SEXVD
B SENAYE 67 U JlE BS(STHYSM/SY - 55)
ciel: sEXE ASs) (el ®2)
% 5 SIE
AR -2 - ZH - S9(3) - NIRAY - BaS 0l ko SR HimE==}
sEMEg2E UERD 43t 20,000 18,000 2,000
308 KHXIEHHISOIH 20,000 18,000 2,000
01 AXEMBAEES 20,000 18,000 2,000
OsEMg2g HEXD 243 20,000
SESL MBS JI=Es 48,000 48,000 0
408 THXIHHIS K201 & 48,000 48,000 0
01 XISHMAZ2EER 48,000 48,000 0
OBESA ASE BB AlY 18,000
OSIIAE F4 AlE 30,000
SEARS M2 |4 27,000 12,000 15,000
308 AXIHHSOIA 27,000 12,000 15,000
01 AIXIEHBAEES 27,000 12,000 15,000
OBEARS MR e 27,000
A2BRE D22 Al 12,000 15,000 3,000
308 XXISHRISOI A 12,000 0 12,000
01 AKSHBYEES 2,000 0 2,000
Scomw ZEIIS 22 AlY 12,000
sENY JI=E¥E A~SE 21,000 12,000 9,000
308 XXISHHISOIHE 21,000 12,000 9,000
01 AXEMBAEES 21,000 12,000 9,000
OSZ014 JISEE £S5 AlY 21,000
SEXNR 4E5 54(2F) 32,300 36,000 £3,700
307 212+0/ 32,300 36,000 £3,700
02 SFFHAIEE 32,300 36,000 A3,700
ONSME2ES 29 15,000
OSED|SY 245 N 17,300
sH=sE S8 U=s 13,860 16,970 A3,110
206 =4I 11,060 12,290 A1,230
01 JH=HI 11,060 12,290 A1,230
O0i& S0l HEDS ASTHE 6,560
OAHIAH & NEsE A= 2,700
Os&: TEHHEE L 42IE 1S 1,800
01 LBPHS 2,800 4,680 21,880
09 HAIAHIXIE S 2,800 4,680 1,880
OSENERSDS BN 24 2,800
SENHE 253 29 21,830 59,130 A37,300
201 LB 21,830 23,750 21,920
01 AFR2ell 17,280 19,200 21,920
OEIER=1] 3,780
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A= sHII=d A sEII=E sENZL
By =ERSR 07 U JlE PS(sUHLLM/ =Y - 5E)
ool SEXE ASH) GECEED
% x SJE]
A3 - RN - B - B9I(3) - MY - BES 0l abo SR ime—=T
Oo=2g =¥ 9,000
ogxt=z 2,700
O=gt| 1,800
02 3323H| 4,550 4,550 0
OAIZEH| Xl 4,550
sHtE 018 Jls &7 201,773 189, 159 12,614
s & iz Jls AKX 33,390 22,000 11,390
101 21244 19,340 7,000 12,340
04 JIZtHIZ2E2 XS 2+ 19,340 7,000 12,340
OINSEE 2= ARXA 19,340
ollE2= 80,0003 27 *7&+1H 15,120
oF=RgIESE 1,680
o RERIE 240
oHESIH| 200
ol=k=-1=2 2,100
206 M=z 4| 2,050 3,000 A950
NRIEE] 2,080 3,000 A950
O8ZEZ J=2Mg 2 2,050
207 AN 12,000 12,000 0
CREEET] 2,000 2,000 0
O24&AISE & =X+ 9,000
OSBMHZII=HE At S 3,000
S4tE 01897 2GR 60,303 67,159 26,856
201 LB | 60,303 61,648 21,345
01 At 2teld| 12,105 13,450 21,345
Oget=ZH| 11,295
Oo2d+ 405
Oul=tl 405
02 3323| 48,198 48,198 0
O32223a £ HMA 24,294
OH =l 5,904
OAIZEHIRXIHI 18,000
sy AT 018 Jl= Heg 39,040 35,000 4,040
101 21244 19,340 15,000 4,340
04 JItHIZ2E XS 2+ 19,340 15,000 4,340
OJIsd4M 012 D=y 19,340
oJlZ2s 80,000 <27 L+7E+1H 15,120
oF=Fesrd 1,680
o RER IS 240
oHESIH| 200
o£EE S 2,100
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A= sgII=d A s sENZL
B SENASE 07 U IS PR(SUNLLM/EY - 5E)
&el s=E 012 Dl & (=l &)
% x SJE]
A3 - RN - B - B9I(3) - MY - BES 0l abo SR ime—=T
206 M=z 4| 2,700 3,000 A300
01 =4l 2,700 3,000 A300
OJlsdLM Ha7 2,700
207 AN 17,000 17,000 0
03 Al A H| 17,000 17,000 0
OAIE AT 17,000
oSxE2 24 ZE Y 8,000
oJISHEABIHY Al & ARF HY 9,000
ASSH s6 JIEE Y 39,040 35,000 4,040
101 eI244| 19,340 15,000 4,340
04 J12tMI2E2HSES 19,340 15,000 4,340
OASst stIEE WY 19,340
oJlZs 80,0003 27 +7&+1H 15,120
orEndryd 1,680
o XtRESRI=rE 240
0HESIHI 200
o028z S 2,100
206 M=z 4| 2,700 3,000 A300
01 MZHI 2,700 3,000 A300
OXgELE HE, IIE, AIEM= 2,700
207 AN 17,000 17,000 0
03 A& &I 17,000 17,000 0
OXNASLA St AF AR 17,000
0JIBAIEE ARE 5,000
oM SAZNEAFS 7Y 2,000
oS24 Al & =X= 10,000
A 22 30,000 0 30,000
405 KHAHESHI 30,000 0 30,000
01 AL SZF=HI 30,000 0 30,000
OstEg+s ==& WAl 30,000
oM 30,000
HY2ALH(sI =3 ==X (JIEHIIED 307,101 292,945 14,156
I 2A| 283,786 278,007 5,779
ol 2 A 283,786 278,007 5,779
101 1244 283,786 278,007 5,779
03 RIIHAZZ2 R == 283,786 278,007 5,779
ORIAHL2Z2 X B 283,786
oJlZ2s 219,998
(Oh=Z 2,615, 7403 +6F+12& 188,334
(Lh&=Z 2,638,6603* 18+ 128 31,664
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= se)|=d FA - sHI=d sENAL
I AY2HIH(sII=d sEXNAD) (JIEYIIE)
S EIEESS (S5l 82)
A= - 2M - Z3H - 22(3) - MRAY - BES Ofl &bk %g% Hunsz
S 5.219
OAEE 93, 30421x6% 82 4,479
(LH=EZ 92,466+ 1H+6L 740
O RE 45t 11,520
OH=Z 140,000 «62 122 10,080
(=D 120, 000212+ 122 1,440
=P R ul 22,001
OhEz 2,615, 7402150, 6+251+6% 18,834
L=z 2,638,6602140.6+23]% 1 3,167
otEg 5,760
(Oh&=2 5,280
g 40,00021%3%4* 122 1,440
= 20,0008224* 128 480
S THKHS 20,0002 +3& 122 720
e 60,00021+2&* 122 1,440
e 100,000%1%4+ 1224 1,200
(Lhaz 480
oo 20,0002 %2+ 122 480
oslEiag 3,000
OH=EZ 50,0002 412 2,400
(LH=Z 50, 0002112+ 122 600
odSEdH 3,803
(Oh== 3,241,800 3,242
(LH=EZ 560,640 561
omdI22aE 9,785
(OHEZ 17, 495216248 AI 2H5 102 8,398
(Lh=Z 17, 3372151 4B AI 2H5 102 1,387
o0t 2,500
Oh&= 2,000,000 2,000
(Lhaz 500,000 500
olll=t| <LBZZ 200,00024%1 200
JI=38l 23,315 14,938 8,377
Jl=3Hl 23,315 14,938 8,377
201 k2| 5,007 5,424 N7
01 A2l 5,007 5,424 N7
Ogets=-24] 3,218
O=et| 1,789
202 O 14,708 5,914 8,794
01 ZLHAYI 14,708 5,914 8,794
Oz =4 7,058
OsEN2AE X 0] 7,650
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o sEllsd

~

D HERITH (s sEXN W) (JIEHIIE

Jl=Zl
% x SIE
224 - B - BRI(S) - MRA - BYS ol &t SR
203 HRF=&| 3,600 3,600
04 SN2 HRFAHI 3,600 3,600
OsEAaY 29 3,600
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A= =)z A SIS DIASYDS Y
Hu: J|SsA N2 520 SH(SYHYSA/5Y - 5E)
ool s9|=nS 2Y (S92
AR RN - T B9(31) - MRAR - BAS 0 bt Sl HimE==1
CEIE= 11,800 19,800 8,000
OmSA ZAH| 11,800
T IPIE ISP 40,000 40,000 0
= 20,000
= 20,000
201 LBr2H| 28,000 28,000 0
2 14,000
= 14,000
01 A= 22l 28,000 28,000 0
ORMRIT S eS| 5,000
= 2,500
= 2,500
O2YLY 22,000
= 11,000
= 11,000
OXtZ Rt 1,000
=2 500
= 500
202 04| 2,000 2,000 0
= 1,000
= 1,000
01 =LHOIH] 2,000 2,000 0
OPJE-TSIFEmE R LRSS 2,000
= 1,000
= 1,000
301 LEHRHI 10,000 10,000 0
2 5,000
= 5,000
090 EAAHIXIAS 10,000 0,000 0
OnSsY Sat| 10,000
2 5,000
= 5,000
ARSLR(ASHE) JIZYS)|IZ0S X 92,500 92,500 0
2 92,500
308 XHXIEHHI SOI 92,500 92,500 0
= 92,500
01 AN BAEES 92,500 92,500 0
OtlF=eel DS 92,500
= 92,500
AFSR(ASHE) Y ASNS X 360,000 330,000 30,000
= 360,000
308 XHXISHHISOIH 360,000 330,000 30,000
=2 360,000
01 X SHBAEES 360,000 330,000 30,000
O A5DS X 360,000
= 360,000
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A= =2)|se 2N sIIs DHsLRIY
FE: J|SM MR SOl SM(SHHAS/ 5 - 58)
o9l sIIzns 2% (Sl &)
A= - 2N - R LRA(3H) - MRAY - BES Ofl o Oﬁif'& HIDE2
sHASHEG XA 10,000 103,000 /93,000
2 3,000
& 7,000
201 Yer2HH| 7,000 8,000 21,000
= 2,100
= 4,900
01 A2t 7,000 8,000 A1,000
Oggt+2H| 2,000
2 600
= 1,400
O2g+g 5,000
2 1,500
= 3,500
202 01t 1,500 1,000 500
2 450
& 1,050
01 =LHoiHI 1,500 1,000 500
O s&gass g2x 1,500
2 450
& 1,050
301 YerEEZ 1,500 3,000 21,500
2 450
= 1,050
09 SAIMHIXIES 1,500 3,000 A1,500
OLS4 SAH| 1,500
2 450
& 1,050
sHASHEG XRA(XR) 126,000 80, 100 45,900
2 126,000
308 XIXIHH SOIA 126,000 80,100 45,900
2 126,000
01 RSB LEBXZ 126,000 80,100 45,900
OAIZ Hespeds 126,000
2 126,000
s0|E H2US NA(01AsYnS) 110,200 101,200 9,000
2 110,200
308 XIXIHH SOIA 110,200 101,200 9,000
2 110,200
01 IXSHAZHEXZ 110,200 101,200 9,000
Osgol #2ns 110,200
oT2EI|ENR 61,500
2 61,500
WlE= oy EamES 48,700
= 48,700
sloltist 2% xid 220,000 181,000 39,000
2 220,000
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A= SIS A sEII=d DicdHsPus
Ha: J|asla M2 520 SH(SYHYLM/SY - 5E)
2Rl sll=us 2 (2 &)
A2 -2 - B S2(3) - HIRAR - BES o8y Sl HimE=T
308 XXISHHISOIHE 220,000 181,000 39,000
= 220,000
01 AIXIEHBAEES 220,000 181,000 39,000
OAlZ sgeltist 24 220,000
= 220,000
Moll=gol A8WS 60,000 60,000 0
308 KHXISHHISOIH 60,000 60,000 0
01 AIXIEHBAERS 60,000 60,000 0
OAlZ2 Molsgel 4Z2us 23 60,000
ol ADl=Ee WSAMY 757,295 786,654 229,359
= 114,800
= 642,495
ATEC 29 246,460 268,230 221,770
201 B2 228,860 228,360 500
01 AFR2eltl 48,860 54,360 25,500
Oget==2d| 44,000
ousa 2 24 2F =57 4,000
o=24 HJI= XMl 40,000
ogxt=z 4,860
02 S3=2ZH| 180,000 174,000 6,000
OAIEZ =X 40,000
Oz322 & HAl 140,000
0EADIARS 68,000
oIz 72,000
301 LEBEF 17,600 39,870 222,270
09 HAMHIXIRZ 17,600 39,870 222,270
OATEC2E n=d S4ld| 5,000
O=EF83= 8¥ZLE =5 K= 12,600
s 2 AS2Y 2Y 204,304 225,028 N20,724
101 21Z44| 19,560 19,757 A197
04 JIZHMIZ2Z2XSE 19,560 19,757 2197
OATEC 2teleld 19,560
oJleg 80,0003 26 +8& 16,640
or=e S 1,320
0E8E S 1,600
206 =4I 130,744 145,271 214,527
01 =4l 130,744 145,271 214,527
OATECAIS=E 2 130,744
oA ¥ SE P2 15,000
oAl ¥ =2z el 55,000
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= sWls 24 s2|l=d OlhsY st
! Ol2HA B2 520 S8 (SHHYL S - 52)
Rl ol ADlERY WFAY (el EJ)
1224 - B - SRI(E) - AIRAY - BaS oj v G HIDE2
o EMUHE sAHH 28l 35,744
OBHADIA 2 QIH] 25,000
207 AN 54,000 60,000 26,000
03 Al et 54,000 60,000 26,000
OdfleIEZS =U2s HSAIE 10,000
OtAHEE sSitEe &43)ls FEAE 20,000
O &D1J] & EHl SUHESAIE 24,000
ofelelles =8 & 28 28X 37,800 45,905 A8,105
201 LEH2HH| 36,000 40,215 N4,215
01 A2l 36,000 40,215 N4,215
Ogt=ZH| 20,000
ol RH Kl = 16,000
0BE2= MAE S 4,000
O&EZ2It ZAt=E 16,000
202 O 1,800 5,690 23,890
01 =LY 1,800 5,690 A3,890
OdiDlz=ns2E 1,800
SEXNT JIBIERH(ATEC AIED[BIRR) 30,000 10,000 20,000
401 AlZHIZLS0HYI 30,000 10,000 20,000
01 Al&HI 30,000 10,000 20,000
OATEC ADIEE® WFE 24 Aldid 30,000
s2)|z d2US N (A2 LK) 100,000 100,000 0
= 50,000
= 50,000
301 LetE2d= 100,000 100,000 0
= 50,000
= 50,000
07 2BI=H 04| 35,000 35,000 0
Osg =0k ollA8 20t =04 35,000
= 17,500
& 17,500
09 HALAHIXIES 65,000 65,000 0
O==20t HANMEIt 2A=E L S| 65,000
= 32,500
= 32,500
s2)|z d2US N (=M=l nE &89) 29,600 29,600 0
= 14,800
= 14,800
202 04l 29,600 29,600 0
= 14,800
== 14,800
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.|-0

Sized M2 me0l B
Hel A== WSsAI (el EJ)
T RA B - SSI(SH) - HIRA Sl HIDE2
01 =LHOYI 9,600 9,600 0
Osllzlr E2= 9,600
= 4,800
== 4,800
03 =2IP204l 20,000 20,000 0
Ooflgsd nsI|Z sH)|=u= 20,000
2 10,000
== 10,000
Bz IS5 24 50,000 50,000 0
= 50,000
101 el2d| 17,200 15,840 1,360
= 17,200
04 JIZtHI22 XS 17,200 15,840 1,360
ssasd -E%* 17,200
== 80,0002 262 +7 & 14,560
= 14,560
ord S 1,240
= 1,240
oE8E S 1,400
= 1,400
201 k2| 24,890 26,250 A1,360
= 24,890
01 At22tel| 19,890 21,250 1,360
OZAl=E, WIHAME, et 19,890
= 19,890
02 S22l 5,000 5,000 0
OZsa &Y ANEEHIRX 5,000
= 5,000
206 =4I 2,910 2,910 0
= 2,910
01 THZHI 2,910 2,910 0
Ons Asuz 2,910
= 2,910
301 LEEA S 5,000 5,000 0
2 5,000
09 ALBIXIE S 5,000 5,000 0
OnSY Z4 5,000
= 5,000
ANIEY FEsgel & 59,131 57,891 1,240
101 el2H| 19,560 20,000 AN440
04 JIZtHI22NsSE 19,560 20,000 A440
OAOIEE ’_éi‘i' 19,560
ollEs ,0002+262+8E 16,640
o=d S 1,320
o2EE S 1,600
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A= sWl=s 24 s2|l=d OlhsYust
! l2HA B2 S0 S8 (SHHYL S - 52)
oHol: BHel ADIZEY DAY (Sh9): &)
1224 - B - SRI(E) - AIRAY - BaS oj v G HIDE2
201 k2| 7,691 7,691 0
01 A2l 7,691 7,691 0
OYUSDS, HTASL, YYUS VAL S 7.691
206 MH=HI 9,000 10,000 21,000
01 =4l 9,000 10,000 21,000
O3gds sy dsMazt 9,000
301 Et2dS 2,600 6,200 A3,600
09 HAAHIXIE = 2,600 6,200 A3,600
OUsHd =4 & Ot 2,600
405 Atats SH| 20,280 14,000 6,280
01 AL =ZF S| 20,280 14,000 6,280
ONEDSS ANER SYTY L JADSTY|
- 20,280
sEJHus =3 AY 1,036,800 1,128,560 291,760
=2 346,000
= 690,800
WEE sYIH N (HE) 68,000 98,000 230,000
=2 34,000
== 34,000
405 At SHI 68,000 98,000 230,000
=2 34,000
== 34,000
01 A =ZF S| 68,000 98,000 230,000
OusE JIXM & JIAHF 68,000
=2 34,000
== 34,000
WEE sYIIAH KB (XH) 135,500 149,500 214,000
= 135,500
403 XXM SAH=01™ 135,500 149,500 214,000
= 135,500
01 AXIEMA=E 135,500 149,500 214,000
Os&IIH 248l X2 135,500
= 135,500
SYIIHHE W 45,000 100,000 255,000
= 22,500
= 22,500
201 k2| 10,000 29,606 219,606
= 5,000
= 5,000
01 A2l 2,000 19,606 17,606
Ogit=ZH| 1,000
= 500
= 500
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Dleed @e Seol B8 (sHsYat/SY - &
sEIHUT S8 At Eel &)
. S[E =
2 2H - FE - BRA(BH) - HEARY - SR HIDS2
Ooul=t| 1,000
= 500
& 500
02 S=5=gH| 8,000 10,000 /2,000
OAlIZEHIsAI] 6,000
= 3,000
= 3,000
O =] 2,000
= 1,000
= 1,000
202 O 4,000 11,000 A7,000
= 2,000
= 2,000
01 SLHAYI 4,000 8,000 24,000
Oussd gexd 4,000
= 2,000
= 2,000
206 MH=HI 19,000 31,800 12,800
= 9,500
& 9,500
01 =4l 19,000 31,800 12,800
OIS sA BF HE 7L 4,000
= 2,000
== 2,000
Ounsd Xg a5 & 20I8HE 3 & 15,000
= 7,500
= 7,500
301 LEEA S 12,000 14,000 22,000
= 6,000
= 6,000
09 HAIAHIXIES 12,000 13,000 21,000
OJHSSsAE NS SA4 12,000
= 6,000
< 6,000
SEIAHHE WS A2 129,000 76,000 53,000
= 129,000
308 AFXIEHISOIE 129,000 76,000 53,000
= 129,000
01 AXIHHIMEERS 129,000 76,000 53,000
Os2IH 8802 Jl=s ¥ NS 129,000
= 129,000
I e 2 50,000 38,000 12,000
= 25,000
= 25,000
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A= A== 2A 0 s23)|=% OldisZ st
HH: J|E2Ed M2 Y0 SH(sHlYHH s - s5)
¢ s2J|HuUE =8 At (2 M)
] 1
A2 -2 - ZH - B2)(3) - HIRAY - BES ot e HIDE2
101 2124d| 8,776 5,771 3,005
= 4,388
= 4,388
04 J12HH22NSE 8,776 5,771 3,005
OsgIHnNE 29 2X014 8,776
ollE2 80,000&x87.2 6,976
= 3,488
= 3,488
ox=d S 1,000
= 500
= 500
oE&EE S 800
= 400
= 400
201 2B8-23| 12,784 5,429 7,355
= 6,392
T 6,392
01 AtR22t2(Hl 12,784 5,429 7,355
O=sgoHItE 29 12,784
= 6,392
== 6,392
202 o4l 8,440 6,000 2,440
= 4,220
= 4,220
01 ZLHOH| 8,440 6,000 2,440
OEEM2II=XE gRFA 8,440
= 4,220
= 4,220
206 =4l 12,000 13,500 A 1,500
= 6,000
= 6,000
01 MZHl 12,000 13,500 1,500
S2IH WN=sE M= 2,000
= 1,000
T 1,000
Os2DHUEY Alss & 2018 =22
237 q9 10,000
= 5,000
T 5,000
301 LEBAES 8,000 7,300 700
= 4,000
T 4,000
09 SHAMAHIXIRZ 8,000 6,500 1,500
OIS S4 & HAZBIX| 0 8,000
= 4,000
= 4,000
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AR sels SN S22 1INSYRSD
B DlzaN M2 S0 SE(SHVLH/SY - 5E)
ool SeUINDE &3 Al GECEED
A= -2 - 2 - () - MRAKY - BES Oil &bk O{T—;lg% HnsZ
g2aE sHIIHs 2= XA 96,600 110,000 A13,400
308 AHXISHISOIE 6,600 10,000 23,400
01 HXHMBAEEZ 6,600 10,000 23,400
=0 gHg C2 B8 F2 FHNY 6,600
403 THXISHHIS THZ01 & 90,000 100,000 A10,000
01 AXSHMA=E xR 90,000 100,000 A10,000
Os REEFY| N 90,000
SAHIH JIEE 18,420 22,960 24,540
201 LB | 7,500 8,100 2600
01 AtR2teld| 7,500 8,100 2600
ORM M=, 222I23 S 7,500
202 (44| 840 2,700 A 1,860
01 SLHOHI 840 2,700 A 1,860
OBFIIZNE AREA 840
206 M=z 4| 9,000 10,000 21,000
01 MZHI 9,000 10,000 21,000
OusE Mg & SZAE B3 9,000
301 LEBE S 1,080 2,160 21,080
09 HALAHIXIEZ 1,080 2,160 21,080
ORS4 S| 1,080
NEE =EE2 MZ2YsD| Z2HE(XE) 54,280 84,100 229,820
101 21218 12,480 0 12,480
04 JI1ZtHIZ2E XS 2+ 12,480 0 12,480
O=IHDS 2Y BEOI 12,480
ollE=s 80,0003 26 +5& 10,400
o~ S 1,080
o028z S 1,000
201 LEt2 | 18,300 21,500 23,200
01 AHR2teld] 10,800 13,500 A2,700
ONS2E DHAE, BAR S 10,800
02 232 7,500 8,000 A500
ODSE 29 izl S 7,500
206 M=z 4| 13,500 15,000 A1,500
01 =4I 13,500 15,000 A 1,500
ORSUETR L 327 S 13,500
301 Yo 10,000 21,600 A11,600
09 EAIBINIAS 10,000 21,600 A11,600
Os)I2DS DY 34 ¥ DSY| S 10,000
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Cro &)
T RA B - SSI(SH) - HIRA Sl HIDE2
=W SEE 25| Z2 440,000 450,000 10,000
308 AHXISHHIS0I A 350,000 350,000 0
01 AXISHZABES 350,000 350,000 0
OYxtel &= ol2y| 350,000
403 RXISHHISERH=0(H 90,000 100,000 10,000
01 IXSHHEEX 90,000 100,000 10,000
OsI|H ZHIX 90,000
HNY2AAH|(SYI|=R DS DS (DIEHIIE 938,916 905,445 33,471
ol o) 904,592 867,785 36,807
WEES 904,592 867,785 36,807
101 @124t 904,592 867,785 36,807
03 RI|HAZZ RS 904,592 867,785 36,807
OLSRIS-F AHA4Y) 163,251
o2 2,435, TA0RI*4 %+ 122 116,916
o EEIHH| 2,435, TAORI 6004 Z*23] 11,692
oSiRTRAY 16,59921x424%230 Al 2+ 15,272
PIE=leobS P = 63,3502 *42* 122 3,041
oM PE AL 140,00024 x4 % * 122 6,720
oItELg 2,160,000 2,160
oGt Rt 88,5302 * 12 *4 4,250
SRS 50,000 214 %+ 122 2,400
oll| =H| 200,000 *4%4 800
ONSKA-29Bx(22) 67,444
023 2,055, 740228+ 12 54,138
oA SIHH] 2,055, TA0 R <6082 +23] 5,414
EIE=lebS PN = 46, 72021%2%x 122 1,122
SR r = 140,00024 2%+ 122 3.360
oIIELgE 480,000% 480
oL Xt Et 80,4129 %122 %22 1,930
ellal 1,000,0002! 1,000
Odfells-2a e S(18d 018-79) 272,802
022 2,465, T402Ix 7S+ 12 207,123
0 ESIHH| 2,465, TAORI 600+ 7L *23] 20,713
osY2Z4Y 16, 7A0RI+BA| 242 %20 10,714
IE=1ebS PN 63,3502 * 122+7H 5,32
oXREASY 140, 0002 +7* 128 11,760
otEaet 3,120,000 3,120
o Rpgt 89,2832% 1227 7,500
oRlExY 50,0002 «62* 122 3,600
oll| =H] 200,000 21462 1,200
00iH| 1,750,000 1,750
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A2 =2)|a9 2A 59022 DlsYusSn
HE: HY2HAH|(=II2R OlhsLns) (JIEHIIE)
Cro: ol (S &)
A= 24 - ZE - S2(3) - HIRA - BAS Ofl ko Sl HImE2
Otfell|s-2a 22| (184 0/5-92) 319,101
== 2,225, 7402 9% * 122 240,380
0EEEIH] 2,205, TA0 2 +60%+9 2 +23] 24,038
osYnRAY 15,2692 *BA| 2424 x25 12,216
0d2EF AL 63,3501 1229 6,842
RSl R 140,0002 92+ 122 15,120
otELL 4,560,000 4,560
by E= 81,4332 122 »9H 8,79
R 50,0002 8+ 122 4,800
olll=H| 200, 0002 +8% 1,600
o01H| 750,000 750
O=|HRS- 88X (1Y) 37.833
ollez 2,345, 7402 1% * 122 28,149
0EEEIH] 2,345, 7402 *60%+ 1 23] 2,815
odIRaRAY 15,6332 * 1Z*200A| 2 3,127
PIE=1bS B 46,7202 % 122%1Y 561
ORI P A L 140,0002 1122 1,680
b= 83,3732% 1221 1,001
004t 500,000 500
OsYIIHDS-SAHI|IH22I(CH2 19) 44,161
01=3 2,691,520+ 1% * 122 32,299
0EEEIH] 2,691,520 2 *60%+ 1 23] 3,230
oo RAY 17,9942 % 12 *200A| 2 3,599
0d2EF AL 53,3802 1221 641
ORI P A L 120,000 1122 1,440
b= 95,9662 * 1221 1,152
=R 50,0002 %1122 600
olll 2H| 200,000 %12 200
004t 1,000,000& 1,000
J|=2Zl 34,324 37,660 3,336
J|23| 34,324 37,660 3,336
201 LB Y| 18,105 22,080 3,975
01 At22t2IH 13,080 16,668 3,588
Optag| 6,000
o3| 5,280
ouxte 1,800
02 222G 5,025 5,412 A387
Oo=2e2 2 MM S 5,025
202 0t 10,999 10,360 639
01 2LH0IY] 10,999 10,360 639
ORNBE AR=x 3,281
SAI|EWT Y2E 7,718
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A= slI=d 2N sII=d DicdHsPus

M HAHRAAH|(=YII=R DlcH=Ews) (JIEHIIEH

¢ D23l CERE)

- _ Sls)
A2 -2 - B S2(3) - HIRAR - BES o8y SR blmz2
203 HRF=&| 5,220 5,220 0
04 A2 HRFAHI 5,220 5,220 0
Olldi=sgusl 2 5,220
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